### **APPENDICES**

- Appendix A ACCIDENTS AT RAILROAD CROSSINGS
- Appendix B AGENCIES INTERVIEWED FOR THE WICHITA METROPOLITAN AREA ITS EARLY DEPLOYMENT STUDY
- Appendix C AGENCY RANKINGS OF ITS USER SERVICES
- Appendix D GLOSSARY OF ITS USER SERVICES
- Appendix E CALCULATION OF ANTICIPATED BENEFITS
- Appendix F ESTIMATE OF PROBABLE COST CALCULATIONS

### APPENDIX A

### ACCIDENTS AT RAILROAD CROSSINGS

.

Interse	ection (nearest)	Accident Class	<b>Collision Type</b>
1 ST N.	WACO	Pedestrian	
2 ND N.	WICHITA	Other vehicle	Rear end
2 ND N.	WICHITA	Other vehicle	Rear end
3 RD N.	WICHITA	Other vehicle	Rear end
3 RD N.	WICHITA	Railway train	
3 RD N.	WICHITA	Other vehicle	Angle
10 TH N.	WASHINGTON	Other vehicle	Angle
11 TH N.	WELLINGTON	Other vehicle	Rear end
13 TH N.	BARWISE	Other vehicle	Rear end
13 TH N.	ST. FRANCIS	Other vehicle	Rear end
13 TH N.	SANTA FE	Other vehicle	Head on
13 TH N.	BARWISE	Other vehicle	Rear end
13 TH N.	MARKET	Other vehicle	Angle
13 TH N.	MARKET	Other vehicle	Rear end
13 TH N.	MEAD	Other vehicle	
13 TH N.	MEAD	Other vehicle	Rear end
13 TH N.	MEAD	Other vehicle	Rear end
13 TH N.	ROOSEVELT	Other vehicle	Rear end
13 TH N.	ROOSEVELT	Other vehicle	Angle
13 TH N.	SANTA FE	Fixed object	Other post or pole
13 TH N.	SANTA FE	Other vehicle	Rear end
13 TH N.	WASHINGTON	Other vehicle	Rear end
13 TH N.	WESTLY	Other vehicle	Rear end
15 TH N.	SANTA FE	Other vehicle	Backed into
15 TH N.	WASHINGTON	Other vehicle	Angle
17 TH N.	MEAD	Other vehicle	Rear end
17 TH N.	MEAD	Other vehicle	Rear end
17 TH N.	SANTA FE	Other vehicle	Rear end
17 TH N.	EMPORIA	Fixed object	RR crossing fixtures
17 TH N.	MEAD	Railway train	<i>9</i>
17 TH N.	MEAD	Railway train	······································
18 TH N.	SANTA FE	Railway train	
18 TH N.	MOSLEY	Railway train	. <u> </u>
21 ST N.	BROADWAY	Other vehicle	Rear end
21 ST N.	MOSLEY	Other vehicle	Rear end
21 ST N.	MOSLEY	Other vehicle	Sideswipe-overtake
21 ST N.	MOSLEY	Other vehicle	Rear end
21 ST N.	BROADWAY	Other vehicle	Angle
21 ST N.	BROADWAY	Other vehicle	Rear end
21 ST N.	MOSELY	Other vehicle	Rear end
21 ST N.	MOSLEY	Fixed object	Other

Table A-1 Accidents at Railroad Crossings

	ection (nearest)	Accident Class	Collision Type
21 ST N.	MOSLEY	Fixed object	RR crossing fixtures
21 ST N.	MOSLEY	Other vehicle	Sideswipe-overtake
21 ST N.	MOSLEY	Other vehicle	Rear end
21 ST N.	MOSLEY	Other vehicle	Angle
21 ST N.	MOSLEY	Other vehicle	Rear end
21 ST N.	MOSLEY	Other vehicle	Rear end
21 ST N.	MOSLEY	Other vehicle	Angle
21 ST N.	MOSLEY	Parked Vehicle	
25 TH N.	BROADWAY	Railway train	
29 TH N.	BROADWAY	Other vehicle	Angle
29 TH N.	BROADWAY	Other vehicle	Other
29 TH N.	BROADWAY	Fixed object	Curb
29 TH N.	BROADWAY	Other vehicle	Angle
29 TH N.	BROADWAY	Other vehicle	Angle
29 TH N.	BROADWAY	Other vehicle	Rear end
29 TH N.	OHIO	Railway train	
29 TH N.	ST. FRANCIS	Other vehicle	Rear end
33 RD N.	BROADWAY	Railway train	
37 TH N.	HILLSIDE	Other vehicle	Angle
37 TH N.	OHIO	Other vehicle	Rear end
37 TH N.	PARKWOOD	Fixed object	RR crossing fixtures
37 TH N.	BROADWAY	Railway train	Interesting interes
37 TH N.	HYDRAULIC	Fixed object	Other
45 TH N.	MAIZE	Fixed object	Culvert
53 RD N.	ARKANSAS	Fixed object	RR crossing fixtures
53 RD N.	ARKANSAS	Railway train	The crossing includes
53 RD N.	ARKANSAS	Other vehicle	Rear end
53 RD N.	WICHITA	Fixed object	Fence
61 ST N.	ARMSTRONG	Railway train	
61 ST N.	SENECA	Railway train	
69 TH N.	K-15	Railway train	
69 TH N.	WOODLAWN	Railway train	
69 TH N.	M08716	Overturned	
69 TH N.	WOODLAWN	Fixed object	Ditch
127 TH E.	83 RD S.	Fixed object	Other post or pole
127 TH E.	K-254	Fixed object	RR crossing fixtures
23 RD S.	311 TH W.	Fixed object	Building
39 TH S.	K-15	Fixed object	RR crossing fixtures
39 TH S.	R2202	Other vehicle	Rear end
39 TH S.	WEST	Railway train	
47 TH S.	K-15	Fixed object	Other

Table A-1 Accidents at Railroad Crossings (continued)

Interse	ction (nearest)	Accident Class	Collision Type
47 TH S.	K-15	Fixed object	Other
47 TH S.	K-15	Fixed object	Other
47 TH S.	WATER	Other vehicle	Angle
55 TH S.	US-81	Other vehicle	Rear end
63 RD S.	OLIVER	Other vehicle	Rear end
63 RD S.	SOUTHEAST	Other vehicle	Angle
63 RD S.	SOUTHEAST	Other vehicle	Rear end
71 ST S.	K-15	Fixed object	Guardrail
79 TH S.	SENECA	Railway train	
79 TH S.	SENECA	Railway train	
79 TH S.	SENECA	Railway train	
87 TH S.	SENECA	Railway train	······································
95 TH S.	MERIDIAN	Railway train	······································
111 TH S.	GREENWICH	Fixed object	Other
77 TH W.	WOODLAWN	Fixed object	Ditch
77 TH W.	WOODLAWN	Railway train	
119 TH W.	KELLOGG	Other vehicle	Rear end
167 TH W.	KELLOGG	Railway train	
167 TH W.	KELLOGG	Railway train	
215 TH W.	KELLOGG	Railway train	······································
231 ST W.	KELLOGG	Overturned	······································
279 TH W.	HARRY	Railway train	·
ALBERT	QUEEN	Railway train	
BAYLEY	MARKET	Railway train	
BAYLEY	MEAD	Other vehicle	Rear end
BLAKE	MEAD	Fixed object	Other
BROADWAY	15 TH N.	Other vehicle	Rear end
BROADWAY	15 TH N.	Railway train	
BROADWAY	29 TH N.	Other vehicle	Angle
BROADWAY	37 TH N.	Other vehicle	Angle
BROADWAY	53 RD N.	Other vehicle	Rear end
BROADWAY	BAYLEY	Other vehicle	Angle
BROADWAY	BAYLEY	Other vehicle	Angle
BROADWAY	ORME	Other vehicle	Angle
BROADWAY	ORME	Other vehicle	Rear end
CENTRAL	MEAD	Other vehicle	Sideswipe-overtake
CENTRAL	MOSLEY	Other vehicle	Rear end
CENTRAL	MOSLEY	Other vehicle	Rear end
CENTRAL	MT. CARMEL	Other vehicle	Rear end
CENTRAL	MT.'CARMEL	Other vehicle	Head on
CENTRAL	MT. CARMEL	Other vehicle	Angle

:

Table A-1 Accidents at Railroad Crossings (continued)

Contraction of the local division of the loc	ection (nearest)	Accident Class	Collision Type		
CENTRAL	MT. CARMEL	Pedestrian			
CENTRAL	SANTA FE	Fixed object	RR crossing fixtures		
CENTRAL	SANTA FE	Other vehicle	Rear end		
CENTRAL	SANTA FE	Other vehicle	Angle		
CENTRAL	SANTA FE	Other vehicle	Rear end		
CENTRAL	SANTA FE	Other vehicle	Rear end		
CENTRAL	SANTA FE	Other vehicle	Rear end		
CENTRAL	ST. FRANCIS	Other vehicle	Rear end		
CENTRAL	ST. PAUL	Other vehicle	Rear end		
CENTRAL	WICHITA	Other vehicle	Rear end		
CENTRAL	WICHITA	Railway train			
CLIFTON	47 TH S.	Fixed object	Guardrail		
DOUGLAS	FERN	Other vehicle	Angle		
DOUGLAS	MILLWOOD	Other vehicle	Rear end		
DOUGLAS	VINE	Fixed object	Sign post		
EMPORIA	BAYLEY	Other vehicle	Angle		
EMPORIA	BAYLEY	Other vehicle	Angle		
EMPORIA	ORME	Other vehicle	Other		
MERIDIAN	111 TH S.	Railway train			
GREENWICH	13 TH N.	Railway train			
71 ST S.	RIDGE	Railway train			
F612	95 TH S.	Railway train			
GLENN	BURTON	Other vehicle	Angle		
GRAND	MAIN	Other vehicle	Angle		
GRAND	MAIN	Other vehicle	Rear end		
GRAND	MAIN	Other vehicle	Rear end		
GRAND	MAIN	Other vehicle	Rear end		
GRAND	MAIN	Other vehicle	Sideswipe-overtake		
GREEN	MURDOCK	Other vehicle	Rear end		
GREEN	MURDOCK	Other vehicle	Head on		
GROVE	ELM	Other vehicle	Rear end		
GROVE	MURDOCK	Other object			
GROVE	MURDOCK	Other vehicle	Sideswipe-overtake		
GROVE	MURDOCK	Other vehicle	Angle		
HARRY	HANDLE	Fixed object	Curb		
HARRY	K-42	Other vehicle	Backed into		
HARRY	MEAD	Non-collision			
HARRY	SANTA FE	Other vehicle	Rear end		
HILLSIDE	9TH N	Other vehicle	Sideswipe-overtake		
HILLSIDE	COUNTRY CLUB	Other vehicle	Rear end		
HYDRAULIC	K-15	Fixed object	Curb		

ļ

Table A-1 Accidents at Railroad Crossings (continued)

Interse	ction (nearest)	Accident Class	Collision Type	
HYDRAULIC	SOUTHEAST	Other vehicle	Rear end	
K-15	39 TH S.	Other vehicle	Rear end	
K-15	39 TH S.	Other vehicle	Rear end	
K-15	MAC ARTHUR	Other vehicle	Rear end	
K-42	HARRY	Other vehicle		
KECHI	OLIVER	Railway train	Angle	
KINKAID	MEAD	Railway train		
LINCOLN	MEAD	Other vehicle	Rear end	
LINCOLN	MEAD	Other vehicle	Rear end	
LINCOLN	MEAD	Railway train		
LINCOLN	SANTA FE	Other vehicle	Rear end	
LINCOLN	WASHINGTON			
LINCOLN	WASHINGTON	Fixed object	Other	
MAC ARTHUR	BROADWAY	Other vehicle	Rear end	
MAC ARTHUR	K-15	Other vehicle	Rear end	
MAC ARTHUR	WEST	Other vehicle	Rear end	
MADISON	SENECA	Fixed object	Tree	
MAIN	BAYLEY	Other vehicle	Angle	
MAIN	ORME	Fixed object	Other	
MAIN	ORME	Other vehicle	Rear end	
MAIN	SANTA FE	Railway train		
MAIN	SANTA FE	Railway train		
MAIZE	KELLOGG	Fixed object	Other post or pole	
MARKET	13 TH N.	Other vehicle	Rear end	
MARKET	BAYLEY	Other vehicle	Angle	
MARKET	ORME	Other vehicle	Angle	
MARKET	ORME	Other vehicle		
MARKET	ORME	Other vehicle	Angle Angle	
MC CORMICK	EDWARDS	Other vehicle	Angle	
MC CORMICK	K-42	Fixed object	Utility pole, devices	
MC CORMICK	K-42	Fixed object	RR crossing fixtures	
MC CORMICK	K-42 Other vehicle		Sideswipe-overtake	
MCLEAN	the second s	Other vehicle	Angle	
MCLEAN	WALKER Other BAYLEY Fixed	Other vehicle	Rear end	
MEAD		Fixed object	Other	
MEAD	KINKAID	Fixed object	Curb	
MERIDIAN	77 TH N.	Fixed object	Other	
MERIDIAN	ORIENT	Other vehicle	Angle	
MERIDIAN	ORIENT	Other vehicle	Rear end	
MERIDIAN	ST: LOUIS	Other vehicle	Angle	
MERIDIAN	ST. LOUIS	Other vehicle	Rear end	

Table A-1 Accidents at Railroad Crossings (continued)

L

Intersec	tion (nearest)	Accident Class	Collision Type
MOSLEY	MURDOCK	Fixed object	Other
MT. VERNON	K-15	Other vehicle	Angle
MT. VERNON	MEAD	Other vehicle	Angle
MURDOCK	MEAD	Railway train	
MURDOCK	MEAD	Railway train	
MURDOCK	SANTA FE	Other vehicle	Rear end
MURDOCK	SANTA FE	Other vehicle	Rear end
MURDOCK	WACO	Railway train	
MURDOCK	WASHINGTON	Other vehicle	Sideswipe-overtake
MURDOCK	WICHITA	Railway train	
MURDOCK	WICHITA	Other vehicle	Angle
MURDOCK	WICHITA	Pedestrian	
MURDOCK	WICHITA	Railway train	
MURDOCK	WICHITA	Railway train	
MURDOCK	WICHITA	Railway train	
MURDOCK	WICHITA	Railway train	
OLIVER	17 TH N.	Other vehicle	Rear end
OLIVER	37 TH N.	Other vehicle	Rear end
OLIVER	37 TH N.	Other vehicle	Rear end
PALISADE	55 TH S.	Other vehicle	Angle
PAWNEE	K-15	Other vehicle	Rear end
PAWNEE	MEAD	Fixed object	Other
PAWNEE	MEAD	Fixed object	Utility pole, devices
PAWNEE	MEAD	Other vehicle	Rear end
PAWNEE	MEAD	Other vehicle	
PAWNEE	MEAD	Pedalcycle	
PAWNEE	SANTA FE	Other vehicle	Angle
PAWNEE	SANTA FE	Other vehicle	Rear end
PAWNEE	SANTA FE	Other vehicle	Angle
PAWNEE	SOUTHEAST	Other vehicle	Rear end
PAWNEE	SOUTHEAST	Other vehicle	Rear end
199 TH W.	SANTA FE	Other vehicle	Rear end
199 TH W.	SANTA FE	Railway train	
R205	K-15	Other vehicle	Rear end
63 RD S.	K-15	Other vehicle	Rear end
63 RD S.	K-15	Railway train	
R2194	M07812	Railway train	·····
71 ST S.	87 TH S.	Other object	
71 ST S.	87 TH S.	Other object	
151 ST W.	53 RD N.	Railway train	
85 TH N.	RIDGE	Railway train	

Table A-1 Accidents at Railroad Crossings (continued)

-

	ction (nearest)	Accident Class	Collision Type
RIDGE	29 TH N.	Other vehicle	Head on
ROCK	13 TH N.	Railway train	
ROCK	ROCKHILL	Fixed object	Utility pole, devices
ROCK	ROCKHILL	Other vehicle	Rear end
ROCK	ROCKHILL	Railway train	
SENECA	WALKER	Other vehicle	Rear end
SENECA	WALKER	Other vehicle	Angle
SENECA	WALKER	Other vehicle	Angle
SENECA	WALKER	Other vehicle	Rear end
SOUTHEAST	PAWNEE	Other vehicle	Angle
SOUTHEAST	PAWNEE	Other vehicle	Angle
ST. PAUL	NEWELL	Other vehicle	Rear end
TOPEKA	BAYLEY	Other vehicle	Angle
TURNPIKE	K-15	Other vehicle	Angle
TYLER	37 TH N.	Railway train	
TYLER	37 TH N.	Railway train	
TYLER	71 ST S.	Railway train	
TYLER	71 ST S.	Railway train	
TYLER	KELLOGG	Fixed object	Tree
WALKER	OSAGE	Other vehicle	Angle
WASHINGTON	MURDOCK	Other vehicle	Sideswipe-overtake
WASHINGTON	ZIMMERLY	Fixed object	Curb
WASHINGTON	ZIMMERLY	Other vehicle	Angle
WASSAL	SOUTHEAST	Other vehicle	Rear end
WEBB	13 TH N.	Fixed object	Guardrail
WEST	11 TH N.	Other vehicle	Rear end
WEST	29 TH S.	Other vehicle	Rear end
WEST	KELLOGG	Other vehicle	Rear end
WEST	PAWNEE	Other vehicle	Rear end
WEST	PAWNEE	Overturned	
WEST	ZOO	Other vehicle	Rear end
WEST	ZOO	Other vehicle	Other
WESTDALE	ZOO	Other vehicle	Angle
WOODLAWN	17 TH N.	Fixed object	Curb
WOODLAWN	17 TH N.	Overturned	
WOODLAWN	17 TH N.	Other vehicle	Rear end
WOODLAWN	39 TH N.	Railway train	
WOODLAWN	FARMVIEW	Other vehicle	Rear end
WOODLAWN	FARMVIEW	Other vehicle	Rear end

Table A-1 Accidents at Railroad Crossings (continued)

ŧ

### APPENDIX B

AGENCIES INTERVIEWED FOR WICHITA METROPOLITAN AREA ITS EARLY DEPLOYMENT STUDY

,

1

-

Agency or Organization	Contact(s)	Date
City of Wichita Dept. of Public Works	Scott Canfield	January 27, 1998
Sedgwick County Emergency Communications and Management	John Coslett Diane Gage	January 27, 1998
Wichita Fire Department	Chief Larry Garcia	January 27, 1998
Sedgwick County Planning	Dave Spears	January 27, 1998
Metropolitan Transit Authority	Stan Zienkowitz	January 27, 1998
State Highway Patrol	Lt. John Gaunt Lt. John Walters	January 28, 1998
KDOT-Wichita	Benny Tarverdi	January 28, 1998
City of Wichita Maintenance	Larry Henry	January 28, 1998
City of Wichita Police	Chief Mike Watson	January 28, 1998
Kansas Turnpike Authority	Jon Potter	February 17, 1998
Metropolitan Area Planning Department (MAPD)	Bill Stockwell	January 28, 1998

### Table B-1 Agencies Interviewed for ITS Early Deployment Study

APPENDIX C

AGENCY RANKINGS OF ITS USER SERVICES

.

### Table C-1 Agency Rankings of ITS User Services

ITS USER SERVICES	Wich	ita City DPW	Sedgwi	ck Co. Emergency	W	ichita Fire	Sedg	wick County	T	MTA		SHP		KDOT	City I	Maintenance	Ci	ty Police	N	AAPD		KTA
				mmunications		epartment	1	Planning			1				-							
	Priority	Implementation	Priority	Implementation	Priority	Implementation	Priority	Implementatio	n Priority	Implementatio	n Priority	Implementation	Priority	Implementat								
En-Route Driver Information	Medium	Short	High	Short	Medium	Medium	High	Long	Low	Medium	High	Short	Medium	Medium	Medium	Medium	Low	Long	Medium	Medium	Medium	Medium
Route Guidance	Low	Long	Low	Long	None	None	Low	Long	Medium	Short	Medium	Medium	Medium	Medium	Medium	Long	High	Short	Medium	Medium	Medium	Medium
Traveler Services Information	Low	Short	Low	Short	Medium	Medium	Low	Long	Low	Long	Medium	Medium	Medium	Medium	High	Short	None	None	Low	Long	Medium	Medium
Traffic Control	High	Short	High	Short	High	Short	High	Medium	High	Short	High	Short	High	Short	High	Short	High	Short	High	Short	Low	Medium
Incident Management	High	Medium	Medium	Medium	Medium	Medium	High	Short	High	Short	High	Short	High	Short	High	Short	Low	Long	High	Short	Low	Medium
Emissions Testing and Mitigation	None	Long	Low	Long	None	None	Low	Long	Low	Long	Low	Long	Low	Long	Medium	Medium	None	None	Low	Long	None	None
Demand Management and Operations	None	Long	Low	Long	High	Short	Low	Long	Medium	Short	Medium	Medium	Medium	Medium	Medium	Medium	None	None	Low	Medium	None	None
Pre-Trip Travel Information	Low	Medium	Medium	Medium	Medium	Medium	Medium	Medium	Medium	Short	Medium	Medium	Medium	Medium	Medium	Medium	None	None	Low	Long	None	None
Ride Matching and Reservation	Low	Medium	Medium	Medium	High	Short	Low	Long	High	Short	Medium	Medium	Low	Long	Medium	Medium	None	None	Low	Short	None	None
Highway Rail Intersection	High	Short	High	Short	High	Short	High	Short	Medium	Short	High	Short	Low	Long	High	Short	Low	Long	High	Short	None	None
Public Transportation Management	Medium	Short	Medium	Short	Low	Long	Medium	Medium	High	Short	Medium	Medium	Medium	Medium	Medium	Medium	None	None	Low	Medium	Low	None
En-Route Transit Information	Low	Short	Medium	Short	Low	Long	Medium	Medium	High	Short	Medium	Medium	Medium	Medium	Low	Long	None	None	Low	Long	Medium	Medium
Personalized Public Transit	Medium	Medium	High	Medium	Medium	Long	Medium	Long	High	Short	Medium	Medium	Low	Long	Medium	Medium	None	None	Low	Long	Medium	Long
Public Travel Security	None	None	None	None	None	None	None	None	High	Short	Medium	Medium	Medium	Medium	Medium	Medium	Low	Long	Low	Long	High	Short
Electronic Payment Services	Medium	Low	Low	Long	Low	Long	Low	Long	High	Short	Medium	Medium	Medium	Medium	Medium	Medium	None	None	Medium	Medium	Low	Long
Commercial Vehicle Electronic Clearance	Low	None	None	None	Low	Long	Low	Long	Low	Long	High	Short	Low	Long	Low	Long	None	None	Low	Long	Medium	Medium
Automated Roadside Safety Inspection	Low	Low	Low	Long	None	None	Low	Long	Low	Long	High	Short	Medium	Medium	Low	Long	None	None	Low	Long	Medium	Medium
On-Board Safety Monitoring	Low	Low	Low	Long	Low	Long	Low	Long	Low	Long	High	Short	Medium	Medium	Medium	Medium	None	None	Low	Long	Medium	Medium
Commercial Vehicle Administrative Processes	Low	None -	None	None	Low	Long	Low	Long	Low	Long	High	Short	Low	Long	Low	Long	None	None	Low	Long	Medium	Medium
Hazardous Material Incident Response	Medium	Short	High	Short	High	Short	High	Medium	Medium	Medium	High	Short	High	Short	High	Short	Medium	Medium	High	Short	High	Short
Freight Mobility	Low	Short	High	Short	Medium	Medium	Low	Long	Low	Long	High	Short	Medium	Medium	Medium	Medium	None	None	Low	Long	Medium	Medium
Emergency Notification and Personal Security	Medium	Long	High	Long	High	Short	Medium	Long	High	Short	High	Short	Medium	Medium	High	Short	None	None	Medium	Medium	Medium	Medium
Emergency Vehicle Management	High	Short	High	Short	High	1 1122230.0	Medium	Medium	High	Short	High	Short	High	Short	High	Short	Short	Short	High	Short	Medium	Medium

### APPENDIX D

### **GLOSSARY OF ITS USER SERVICES**

.

### **GLOSSARY OF ITS USER SERVICES**

Twenty-nine ITS user services have been identified by the Federal Highway Administration (FHWA). The 30 user services have been grouped into six "bundles", each of which represent the application of advanced technology to a specific transportation function. The six bundles of user services are:

- Travel and Transportation Management.
- Public Transportation Management.
- Electronic Payment.
- Commercial Vehicle Operations.
- Emergency Management.
- Advanced Vehicle Safety Systems.

Following is a brief description of each user service:

### TRAVEL AND TRANSPORTATION MANAGEMENT

- En-Route Driver Information: Provides driver advisories and in-vehicle signing for convenience and safety.
- **Route Guidance:** Provides travelers with simple instructions on how to best reach their destinations.
- **Traveler Services Information:** Provides a business directory, or "yellow pages" of service information.
- Traffic Control: Manages the movement of traffic on streets and highways.
- **Incident Management:** Helps public and private organizations quickly identify incidents and implement a response to minimize their effects on traffic.
- Emissions Testing and Mitigation: Provides information for monitoring air quality and developing air quality improvement strategies.
- **Demand Management and Operations:** Supports policies and regulations designed to mitigate the environmental and social impacts of traffic congestion.
- **Pre-Trip Travel Information:** Provides information for selecting the best transportation mode, departure time, and route.
- Ride Matching and Reservations: Makes ride sharing easier and more convenient.
- Highway-Rail Intersection: Mitigates highway/railway conflicts

### PUBLIC TRANSPORTATION MANAGEMENT

- **Public Transportation Management:** Automates operations, planning, and management functions of public transit system.
- **En-Route Transit Information:** Provides information to travelers using public transportation after they begin their trips.
- **Personalized Public Transit:** Provides flexibly-routed transit vehicles to offer more convenient customer service.
- **Public Travel Security:** Creates a more secure environment for public transit patrons and operators.

### **ELECTRONIC PAYMENT**

• Electronic Payment Services: Allows travelers to pay for transportation services electronically.

### **COMMERCIAL VEHICLE OPERATIONS**

- **Commercial Vehicle Electronic Clearance:** Facilitates domestic and international border clearance, minimizing stops.
- Automated Roadside Safety Inspection: Facilitates roadside inspections.
- On-Board Safety Monitoring: Senses the safety status of a commercial vehicle, cargo, and driver.
- **Commercial Vehicle Administration Processes:** Provides automatic collection and recording of travel distance, fuel purchased, and trip and vehicle data by jurisdiction.
- Hazardous Materials Incident Response: Provides immediate description of hazardous materials to emergency responders.
- Freight Mobility: Provides communications between drivers, dispatchers, and intermodal transportation providers.

### EMERGENCY MANAGEMENT

- Emergency Notification and Personal Security: Provides immediate notification of an incident and an immediate request for assistance.
- Emergency Vehicle Management: Reduces the time it takes for emergency vehicles to respond to an incident.

### ADVANCED VEHICLE SAFETY SYSTEMS

- Longitudinal Collision Avoidance: Helps prevent head-on, rear-end, or backing collisions between vehicles or between vehicles and other objects or pedestrians.
- Lateral Collision Avoidance: Helps prevent collisions when vehicles leave their lane of travel.
- Intersection Collision Avoidance: Helps prevent collisions at intersections.
- Vision Enhancement for Collision Avoidance: Improves the driver's ability to see the roadway and objects that are on or along the roadway.
- Safety Readiness: Provides warnings about the condition of the driver, the vehicle, and the roadway.
- **Pre-Collision Restraint Deployment:** Anticipates an imminent collision and activates passenger safety systems before the collision occurs, or much earlier in the crash event than is currently feasible.
- Automated Highway Systems: Provides a fully automated, "hands off", operating environment.

The technologies necessary for the user services in the Advanced Vehicle Safety Systems bundle are currently being researched at the national level and are not considered appropriate for implementation by local agencies during the planning horizon considered in the study. **APPENDIX E** 

CALCULATION OF ANTICIPATED BENEFITS

1

ţ

### ANALYSIS TECHNIQUES AND ASSUMPTIONS

An analysis was conducted to assess the benefit to cost ratios for the various ITS implementations. These costs are itemized in the following text and in Tables E-1 through E-29. Based on other recent studies, it was assumed for this analysis that the travel time delay will be reduced by 25 percent. It was also assumed that the average fuel efficiency is 15 miles per gallon for speeds under 35 mph, the cost of fuel is \$1.20 per gallon, and that the average speed during the delay period is 10 mph without ITS implementation.

The average speed is a function of vehicle volumes. Volume is inversely proportional to speed. For example, when volume increases, speed decreases. A representative average queue length of 2 miles is used for this analysis. During times of congestion, the average queue length is assumed to be the same, however the flow rates differ.

The benefits in the short term are based on 1996 ADT and accident values as documented by KDOT. The long term benefits are based on projected 2020 ADT volumes provided by the MAPD and KDOT. The medium term benefits are based on volumes extrapolated from the 1996 and the projected 2020 volumes. In order to best estimate the benefits of the system in future conditions, the number of accidents is assumed to grow at the same rate as the ADT's over the time frames.

It is assumed that 40 percent of the ADT encounters 30 percent of the total accidents as posted for the 1996 calendar year in incident sensitive areas (Figure 2-12). It is also assumed that 10 percent of the ADT will encounter 10 percent of the total accidents in the non-sensitive areas.

The following sections describe detailed analysis techniques used in calculating the benefits derived from implementing an incident detection and traffic management system as a whole using mainline detectors, video surveillance, and various modes of information dissemination (VMS, HAR, public broadcast, etc.).

### **Travel Delay Time Savings**

Assuming the average queue length of 2 miles, the existing travel delay time can be estimated by using the following equation:

Travel Delay Time = (average queue length/average delay velocity) x 60 = (2 miles/10 mph) x 60 min/hour = <u>12 minutes</u>

Using a 25 percent reduction in travel time delay with ITS implementation, the travel delay time is:

Travel Delay Time = 12 minutes x (1-.25) = 9 minutes

Using the assumptions listed above, the travel delay time benefits can be determined by the following equations:

Annual Travel Delay Time (hrs) (without ITS implementation)

= (ADT x 0.4 (0.1 in non-sensitive segments) x 12 minutes x (#

.

of accidents) x 0.3 (0.1 in non-sensitive segments))/60 min/hr Annual Travel Delay Time (hrs) (with ITS implementation)

> = (ADT x 0.4 (0.1 in non-sensitive segments) x 9 minutes x (# of accidents) x 0.3 (0.1 in non-sensitive segments))/60 min/hr

Annual Travel Delay Time (hrs) (with ITS implementation)

= Annual Travel Delay Time (hrs) (without ITS implementation)

x (1-0.25)

Benefits and savings can be calculated by taking the difference of the two results. To quantify the dollar amounts of the travel delay time, a rate of \$10.00 per hour is used in determining the loss of productivity for incident congestion.

### **Fuel Usage**

The fuel used during delay periods can be calculated using the following formula:

Fuel Usage (without ITS implementation) = (Fuel Consumption Rate x Total Delay Time) + (Fuel Consumption per Start/Stop x Number of Stops)<sup>1</sup>

Where:

Fuel Consumption Rate =  $0.72 \text{ gal/hr}^1$  (assuming 2 mile queue length and average 10 mph queue speed)

Total Delay Time = As calculated under "Travel Delay Time Savings"

Fuel Consumption per Start/Stop = 0.019 gal/stop<sup>1</sup> between 10 and 60 MPH

= 0.0016 gal/stop<sup>1</sup> between 0 and 10 MPH

Number of Stops = Assume 10 stops (1 from 60 MPH to 10 MPH and back, then 9 from 10 MPH to 0 MPH and back)

Based on USDOT's "Intelligent Transportation Infrastructure Benefits: Expected and Experienced", a 25% reduction in fuel usage can be assumed for the Wichita metropolitan area with ITS implementation.

The savings in fuel cost can be calculated by multiplying the fuel cost per gallon (\$1.20) by the number of gallons used annually.

### **Emissions Reduction**

Vehicle exhaust emissions can be reduced due to the reduction of incident related congestion. Using the emission rates extrapolated from Figure 7-10 and the annual travel delay time savings calculated previously, the reduction in emissions of CO, HC, and  $NO_x$  can be calculated as follows:

Reduction in CO = (Travel Delay Savings x (0.94 g CO/sec / 453.6 g/lb) x 3600 sec/hr)/2000 lb/ton

Reduction in HC = (Travel Delay Savings x (0.01 g CO/sec / 453.6 g/lb) x 3600 sec/hr)/2000 lb/ton

Reduction in NO<sub>x</sub> = (Travel Delay Savings x (0.0085 g CO/sec / 453.6 g/lb) x 3600 sec/hr)/2000 lb/ton

<sup>&</sup>lt;sup>1</sup> "Traffic Control Systems Handbook", USDOT/FHWA, January 1996, Tables 3-37 and 3-38.

 Table E-1
 I-135 Travel Delay Time and Cost Savings - Short Term

\$17,704 \$255,528 \$2,217,000	1,770 25,553 222,000	5,311 76,658 665,000	7,081 102,211 887,000	50 00	59,150	1135/K254	0.6 MI N JCT K96 TOTAL
\$60,421 \$17,704 \$755 528	6,042 1,770 25 553	18,126 5,311 76,658	24,169 7,081 102,211	80 192 50 60 50 72	63,080 59,150 59,150	0.6 MI N JCT K96 1135/K254	2131 1135/K96 0.6 MI N JCT K96
\$379,649 \$1,172,142 \$331,658	37,965 117,214 33,166	268,211 351,643 99,497	468,857 132,663	90 251 40 72	77,790		BEGIN BRIDGE END BRIDGE
DELAY SAVINGS	DELAY SAVINGS (HRS)	TIME (W/IMPROV.) (HRS) DELAY SAVINGS (HRS) DELAY SAVINGS	IRS)	75 AAD 84	(LUT)	TO REGIN BRIDGE	FROM 1135/154 KF110GG
	ANDULAL FIAC	ANNIAL TRAVEL DELAVI	ANNUAL TRAVEL	VOLUME NUMBER OF	VOLU	ROADWAY SEGMENT	ROADWAY

Short Term
Cost Savings -
el Use and
ole E-2 I-135 Fuel
Table E-2

\$192,000	\$160,000	\$479,000	\$639,000			TOTAL
\$22,078	18,398	55,194	73,592	59,150 72	1135/K254   5	0.0 MIN JUL K96
07770 0720	1 275	3.824	5,099	59,150 60	K96	1135/K96
070'070 10 0000	1 250	13 051	17,401	63,080 192	1135/K96 6	21ST
6/2,101¢	010 20	71 638	95.517	76,940 72	21ST 7	END BRIDGE
	81 201	253 183	337.577	77,790 251	END BRIDGE 7	BEUIN BRIDGE
£37 807	27.335	82,004	109,339	75,440 84	BEUIN BRIDUE	DDOT DA4, NETLOGO
FUEL SAVINGS	FUEL SAVINGS (GAL.)	USE (W/IMPROV.) (GAL) FUEL SAVINGS (GAL.)	(GAL.)	(AUI)   AUCIDENTS		
TOTAL ANNUAL	TOTAL ANNUAL	VOLUME NUMBER OF TOTAL ANNUAL FUEL TOTAL ANNUAL FUEL	TOTAL ANNUAL FUEL	JUME NUMBER OF		KUADWAY SEGMENT

### Table E-3 I-135 Emission Reductions - Short Term

ł

-

VOV EMISSIONS	SAVINGS (TONS)	1.28	3.95	1.12	0.20	0.06	0.86		/ 40
TOTAL	SAVI								
TOTAL CO EMISSIONS   TOTAL HC EMISSIONS   TOTAL NOV EMISSIONS	SAVINGS (TONS)	1.51	4.65	1.32	0.24	0.07	1.01	08.0	0.00
TOTAL CO EMISSIONS	SAVINGS (TONS)	141.62	437.23	123.71	22.54	6.60	95.32	10 208	10:170
SEGMENT	TO	BEGIN BRIDGE	END BRIDGE	21ST	1135/K96	0.6 MI N JCT K96	1135/K254		
ROADWAY SEGMENT	FROM	1135/U54, KELLOGG BEGIN BRIDGE	<b>BEGIN BRIDGE</b>	END BRIDGE	21ST	1135/K96	0.6 MI N JCT K96	TOTAL	

# Table E-4 US-54 Travel Delay Time and Cost Savings - Short Term

- I

\$451,000	45,000	135,000	180,000				TOTAL
\$183,853	18,385	55,156	73,541	38	006,50	WE5151	
2228,398	24,040						
	77 010	68 520	91359	48	52,870	0.39ME MIDCONTIC	MIDCONI/KIDGE IC
\$18 331	3.833	11,499	255,01	2	14,070		
CINER UC INTERE				0.			DAMIE TVI CD
DFLAY SAVINGS	DELAY SAVINGS (HRS)	TIME (W/IMPROV ) (HRS)   DELAY SAVINGS (HRS)   DELAY SAVINGS	DELAY TIME (EX.) (HRS)	ACCIDENTS	(IUA)	10	FRUM
I UTAL ANNUAL	AINNUAL IIME	I WITTER THAT A LET LUELA					PD011
		ANN TRAVEL DELAV	ANNUAL TRAVEL	VOLUME NUMBER OF	VOLUME	ROADWAY SEGMENT	ROADWA

1

ł

# Table E-5 US-54 Fuel Use and Cost Savings - Short Term

ROADWAY	ROADWAY SEGMENT	VOLUME NL	NUMBER OF	TOTAL ANNUAL FUEL	UMBER OF TOTAL ANNUAL FUEL TOTAL ANNUAL FUEL	TOTAL ANNULAT	TOTAL ANDULIAL
FROM	TO	(ADT)	ACCIDENTS	USE (EXIST.) (GAL.)	CCIDENTS USE (EXIST.) (GAL.) USE (W/IMPROV.) (GAL.) FUEL SAVINGS (GAL.) FUEL SAVINGS	FLIFL SAVINGS (GAL)	FUEL SAVINGS
0.4 MI E TYLER MIDCONT/RIDGE IC 0.39ME MIDCONTIC	0.4 MI E TYLER MIDCONT/RIDGE IC 42,590 IIDCONT/RIDGE IC 0.39ME MIDCONTIC 52,870 39ME MIDCONTIC 53.900	42,590 52,870 53.900	10 48 38	11,039 65,779 52,950	8,280 49,334 39,712	2,760 16,445 13,237	\$3,312 \$19,734 \$15,885
TOTAL				130,000	94,000	32,000	\$39,000

.

# Table E-6 US-54 Emission Reductions - Short Term

-

_			
TOTAL CO EMISSIONS   TOTAL HC EMISSIONS   TOTAL NO EMISSIONS	SAVINGS (TONE)	0.13 0.13 0.77 0.62	1.52
TOTAL HC EMISSIONS	SAVINGS (TONS)	0.15 0.91 0.73	1 79
TOTAL CO EMISSIONS	SAVINGS (TONS)	14.30 85.20 68.58	168.07
WAY SEGMENT	TO	R MIDCONT/RIDGE IC E IC 0.39ME MIDCONTIC TIC WEST ST	
ROADWAY	FROM	0.4 MI E TYLER MIDCONT/RIDGE IC 0.39ME MIDCONTIC	TOTAL

1

ļ

Table E-7 Total Benefits - Short Term

HIGHWAY	PRODUCTIVITY FUEL COST SAVINGS SAVINGS	FUEL COST SAVINGS	TOTAL
I-135	\$2,217,000	\$192,000	\$2,409,000
I-235	1	I	I
K-96	ŧ	I	ı
US-54	\$451,000	\$39,000	\$490,000
K-254	1	L	ı
TOTALS (rounded)	\$2,670,000	\$230,000	\$2,900,000

Table E-8 I-135 Travel Delay Time and Cost Savings - Medium Term

ROADWAY	ROADWAY SEGMENT	VOLUME	VOLUME NUMBER OF	ANNUAL TRAVEL	ANNIAL TRAVEL DELAVI		
FROM	10		2	DEL		AININUAL TIME	I UI AL ANNUAL
1135/115		(102.0)	2	DELAT TIME (EAIST.) (HKS)	1 IME (W/IMPROV.) (HKS)	DELAY SAVINGS (HRS) DELAY SAVINGS	DELAY SAVINGS
CINICCII	<b>FAWNEE</b>	170,20	131	18,196	13,647	A 540	CA5 400
PAWNEE	1135/154 KFLL0GG	77 886	007	751 575			047°470
1176/1164 1/111 000	•	000,11	704	CZC, IC/	203,644	187,881	\$1.878.813
UDD/UD4, NELLUGU		88,324	113	238,575	178 931	50 644	
REGIN RRIDGE	END BRIDGE	1 1 0 0 0 0	760			12,044	1040404
		100,04	. 000	781,448	586,086	195.362	\$1 953 620
END BRIDGE	1 21ST	91,410	90	010 010	022 071		
10		000000		211,012	607,201	54,253	\$542.530
1017	063/0011	19,332	290	552.561	414 420	011001	101 100 10
1125/1/06	D 6 MININTY D	71 510	u c			100,140	104,185,14
	0.0 INT N TOT VAD	1,210,11	C8	145,719	109.290	36 430	806 7363
1 0.6 MIN ICT K96	1135/K254	23 407	301			001.00	077,FUL4
	10-31/0011		C71	200,002	187,998	62,666	\$626,659
TOTAL				1 056 000			
				2,200,000	2,417,000	739,000	57.389.000

Medium Term
-
Savings
ŝt
ဂိ
ž
e and
Se
$\square$
Fuel Use
I-135 F
3
<b></b>
Table E-9 I-135 Fue
e
q
Ta
L

ROADWAY	ROADWAY SEGMENT	VOLUME	NUMBER OF	TOTAL ANNUAL FLIFT	VOLUME NUMBER OF TOTAL ANNUAL FUEL TOTAL ANNUAL FUEL	TOTAL ANNULAL	TOTAL ANDREET
FROM	TO	(ADT)	ACCIDENTS	USE (EXIST.) (GAL.)	USE (W/IMPROV) (GAL)	~	FUTAL ANNUAL
1135/K15	DAWNEF	105 07	121	12 101			LUEL AN VINUS
			101	101,01	9,820	3,275	\$3.930
PAWNEE	1135/U54,KELLOGG	77,886	402	541.098	405 874	135 275	
11135/U54 KELLOGG	REGIN RRINGE	00 271	112			0146001	£2C,201¢
		+7C'00	C11	1/1,//4	128,830	42,943	\$51.532
BEGIN BRIDGE	END BRIDGE	93,081	350	562.643	421.982	140 661	
END DUIDCE	101 C		ç		70/(171	1+0,001	\$100,793
END BNIDUE	1017	91,410	66	156,249	117.187	39.062	\$46 875
21ST	1135/K96	79 337	200	207 044			
			2/1	++0,170	248,383	99,461	\$119353
1135/K96	0.6 MI N JCT K96	71,519	85	104.918	78,688	76,770	207 100
	1175/1/261		: -		0006	(JJ7(0))	C14,1C¢
0.0 MI IN JUL 1 N JU	4C2A/CC11	85,492	125	180,478	135,358	45.119	854 143
							0-15-04
TOTA							
INIAL			·	2,128,000	1.596.000	532,000	\$638 000

# Table E-10 1-135 Emission Reductions - Medium Term

-

Γ,	2	T							_			_	-	Т		
TOTAL NO PAGE	PUTAL NO <sub>X</sub> EMISSION	(SND1) SDNIA MS	0.15	6.34		7.01	6.59	1 02	0.1	4.66	2001 2001	C2.1	2.11			24 92
TOTAL HC EMISSIONS TOTAL AND SUCCESSION	SAVINGS (TONS)		0.18	7.46	7 27		c/ /	215		5.48	1 45	Ct.1	2.49			27.32
TOTAL CO EMISSIONS	SAVINGS (TONS)	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		/00.83	222.48	27.977	(1.071	202.37	515 70	07.010	135.89		233.75		2 756 31	1
ROADWAY SEGMENT	TO	PAWNEE	1135/1154 VELTOCO	-	BEGIN BRIDGE	END BRIDGE		21ST	1135/K QK		0.6 MI N JCT K96	1125/1/251	+CZV/CC11			
ROADWAY	FROM	1135/K15	PAWNFF		UDD/UD4, KELLUUU	BEGIN BRIDGE			21ST		1135/K96	0.6 MIN ICT KO6	DEN TOENTIMOS		TOTAL	

į

ROADWAY	ROADWAY SEGMENT	VOLUME	NUMBER OF	ANNUAL TRAVEL	ANN TRAVEL DELAV	ANNITAL TIME	TOTAL ANDULAL
FROM	TO	(ADT)	ACCIDENTS	DELAY TIME (EX.) (HRS)	TIME (W/IMPROV.) (HRS)	DELAY SAVINGS (HRS)	DFLAY SAVINGS
0.4 MI E TYLER	MIDCONT/RIDGE IC	50,189	10	18,068	13.551	4 517	00110
MIDCONT/RIDGE IC	MIDCONT/RUDGE IC 0.39ME MIDCONTIC	61,717	48	106.647	79 985	11C'E	0/1/10 CJ66 617
0.39ME MIDCONTIC	WEST ST	63,371	38	86.692	610 59	20,022	110,0024
WEST ST	U54/K42	89,488	54	173,965	130 474	C10,12	\$710,124 517,012
U54/K42	0.5MI E MERIDIAN	76.956	72	109 470	CUA 011	10,404	0404,912 9400 /17
0.5MI E MERIDIAN	SYCAMORE	200 02	209	171 176	200,001	49,007	C/0,844¢
SVCAMORE	MAIN	01122	86	0.150	C + C + C + C + C + C + C + C + C + C +	42,/82	\$427,815
		CC2,17	70	80/,8	6,569	2,190	\$21,896
MAIN	U.I MI E I UPEKA	90,243	68	18,410	13,807	4,602	\$46.024
0.1MLE TOPEKA	WASHINGTON	78,112	57	160,286	120.214	40.071	\$400.715
WASHINGTON	1135/U54,KELLOGG	61,778	114	21,128	15.846	5 787	C1 (20) 4
1135/U54,KELLOGG	N ERIE	56,490	36	6.101	4 576	1 575	070,470 615757
N ERIE	CLIFTON	60,130	78	14.070	10 553	2 5 1 C	202,010
CLIFTON	EDGEMOOR	59,580	202	34.105		010,0	0/1,000
EDGEMOOD			707	0,100	6/0,12	9,026	\$90,264
EDUEMOON	KUCK KU	22,482	877	55,898	26,923	8,974	\$89,744
KUCK KD	4LDIV/4L	42,649	118	15,098	11,323	3,774	\$37,744
4LDIV/41.	4LD/4L	32,072	42	4,041	3,031	1,010	\$10,103
4LD/4L	41/4LD	26,781	12	964	723	241	\$2.410
4L/4LDIV	GREENWICH RD	31,198	4	374	281	94	8036
<b>GREENWICH RD</b>	U54/K96	26,891	36	2,904	2.178	176	1775
U54/K96	E CO L	29,603	54	4,796	3.597	001 I	\$11.980
							10/110
TOTAL				1.085,000	814.000	271.000	\$2.712.000

	l g							_												_							
TOTAL ANNUAL		╢	())(, C¢	\$25,056	\$18,725	\$37.576	\$43.086	636.063	CUC,UC4	769.14	\$3,976	\$34,622	\$4.564	\$1318	02023	CT 700	())''		107,04	c/84	\$208	88	6627		\$1,030	000 F CC3	000,4074
TOTAL ANNUAL	FUEL SAVINGS (GAL)	2 757	10105	19,190	15,604	31,314	35,905	30,803			416,0	28,851	3,803	1,098	2,533	6 400	6 AKO	20100	2,710		174	67	523		803	195 000	1,000
TOTAL ANNUAL FUEL	USE (W/IMPROV.) (GAL)	9.757	57 580	C 10 7 1	40,813	93,941	107,714	92.408	4 730	1700	2,241	86,554	11,409	3,295	7.598	19,497	19385	8 153	100	20102	170	202	1.568	1 500	066,2	586.000	1
VOLUME NUMBER OF TOTAL ANNUAL FUEL	USE (EXIST.) (GAL.)	13,009	76,786	0110	02,410	125,255	143,618	123,211	6.306	13 255		115,406	15,212	4,393	10,131	25,996	25,846	10,870	010 0	÷01	194	270	2,091	3 153	00+10	781.000	
NUMBER OF	<b>ACCIDENTS</b>	10	48	38		54	72	60	32	68	5	10	114	36	78	202	228	118	42	1 2	<u>.</u>	4	36	54			
VOLUME	(AD'f)	50,189	61,717	63 371	110,00	07,400	76,956	79,225	91,233	90.243	70 113	/0,112	61,7/8	56,490	60,130	59,580	52,482	42,649	32.072	187.96	101,04	861,10	26,891	29.603	1 2205.24		
SEGMENT	TO	MIDCONT/RIDGE IC	0.39ME MIDCONTIC	WEST ST	CV AV VSI I	24V/4CO	0.5MI E MERIDIAN	SYCAMORE	MAIN	0.1 MI E TOPEKA	W A SHING TYNI		1130/U04, KELLUGG	N ERIE	CLIFTON	EDGEMOOR	ROCK RD	4LDIV/41.	4LD/4L	41/41.D		UNEEN WICH KD	U54/K96	E CO L			
KUADWAY SEGMENT	FROM	0.4 MI E TYLER	MIDCONT/RIDGE IC	0.39ME MIDCONTIC	WEST ST		0.04/K42	0.5MI E MERIDIAN	SYCAMORE	MAIN	0 IMLE TOPEKA	MACHINICTONI	NOIDNIHEM	1135/U54,KELLOGG	N ERIE	CLIPTON	EDGEMOOR	ROCK RD	41,DIV/41,	41.D/41.			GREENWICH KD	U54/K96		TOTAL	

Medium Term
I Use and Cost Savings -
Table E-12 US-54 Fuel

.

Term
Medium
1
Reductions
4 Emission
le E-13 US-54 E
13
E-13
Table

ROADWAY	ROADWAY SEGMENT	TOTAL CO EMISSIONS	TOTAL HC EMISSIONS	TOTAL NO. FMISSIONS
FROM	TO	SAVINGS (TONS)	SAVINGS (TONS)	SAVINGS (TONS)
0.4 MI E TYLER	MIDCONT/RIDGE IC	16.85	0.18	0.15
MIDCONT/RIDGE IC	MIDCONT/RIDGE IC 0.39ME MIDCONTIC	99.45	1.06	060
0.39ME MIDCONTIC	WEST ST	80.84	0.86	0.73
WEST ST	U54/K42	162.23	1.73	
U54/K42	0.5MI E MERIDIAN	186.01	1.98	(+:T
0.5MI E MERIDIAN	SYCAMORE	159.58	1.70	00.1
SYCAMORE	MAIN	8.17	0.0	0.07
MAIN	0.1 MI E TOPEKA	17 17	0.18	0.16
0.1MI E TOPEKA	WASHINGTON	149.47	. 1.59	135
WASHINGTON	1135/U54,KELLOGG	19.70	0.21	81 C
II35/U54,KELLOGG	N ERIE	5.69	0.06	0.05
N ERIE	CLIFTON	13.12	0.14	C1 0
CLJFTON	EDGEMOOR	33.67	0.36	0.30
EDGEMOOR	ROCK RD	33.48	0.36	0.50
ROCK RD	4LDIV/41,	14.08	0.15	510
4LDIV/4L	41.IJ/41.	3.77	0.04	0.03
4LD/4L	4L/4LD	0.90	0.01	10.0
4L/4LDIV	GREENWICH RD	0.35	0.00	0.00
GREENWICH RD	U54/K96	2.71	0.03	0.02
U54/K96	ECOL	4.47	0.05	0.04
TOTAL		1,011.71	10.76	915

### Table E-14 Total Benefits - Medium Term

НІСНШАҮ	PRODUCTIVITY FUEL COST SAVINGS SAVINGS	FUEL COST SAVINGS	TOTAL
I-135	\$7,389,000	\$638,000	\$8,027,000
I-235	I	ı	ı
K-96	1	ı	ı
US-54	\$2,712,000	\$234,000	\$2,946,000
K-254	ı	1	I
TOTALS (rounded)	\$10,100,000	\$870,000	\$10,970,000

١

: 1

\$12,812,000	1,281,000	3,844,000	000,0-1,0				
	000 186 1	3 844 000	5 125 000				TOTAL
\$13,874	1,387	4,162	066,6	/0	+00,1c	ALIIDIM GROM	
\$474,777	47,478	142,433	189,911	0 0	21 004	NITAR WICHTA	13 MN K254
D141,574	14,/3/	212(11	180.011	01	000,200	1 3 MN K 254	SCL PARK CITY
	CCC VI	44 717	58.949	36	68,908	SCL PARK CITY	1135/K254
\$1.154.902	115.490	346,471	461,961	6/1	107,834	4C7N/CC11	
\$553,311	55,331	165,993	C2C,177	011	000,00		DEMINICTER
\$2,230,385	223,039	009,110			00 000	DE MINICT VOG	1135/K96
4/1/1/4			807 154	380	95.584	1135/K96	21ST
0-1010	80.017	240,052	320,070	126	105,880	21ST	END BRIDGE
C2 016 120	291 642	874.926	1,166,568	449	108,372	END BRIDGE	BEUIN BRIDDE
\$857.447	85,745	257,234	342,979	141	101,208		
\$2,812,792	281,279	843,837	11,621,11/		400.001		
\$822,389	667,20	2 1 1 / 1 /		515	00,707	1135/154 KELLOCC	PAWNEF
070,00 000 200	50 000 000 000	212 YVC	328.955	168	81,432	PAWNEE	1135/K15
507 CD	357	1 057	1,409	20	36,114	1135/K15	HYDKAULIC
\$6 388	639	1,917	2,555	4	1410	UIDRAULIC	
\$12,337	1,234	3,701		3:	040,10		1135/135
49C,C¢	000		A 035	99	37 520	1135/1235	1135/U81,47TH
00011110 100000	558	1 675	2,234	57	19,560	1135/U81,47TH	1135/KTA
DELAY SAVINGS	DELAY SAVINGS (HRS)	TIME (W/IMPROV.) (HRS)	DELAY TIME (EXIST.) (IHRS)	ACCIDENTS	(ADT)	10	FKUM
TOTAL ANNUAL	ANNUAL TIME	ANNUAL TRAVEL DELAY	ANNUAL IKAVEL	VULUME NUMBER UF	V ULUME		V AUON
					UNDI INVE	ROADWAV SECMENT	

35 Travel Delay Time and Cost Savings - Long Term
I-135
Table E-15

- L

-		- <del>11</del> -	_	_									_	-	-							
TOTAL ANNULAL	FILE SAVINGS (GAL)	CA02	00+0	\$1,066	\$552	4304	1000 LC3		070,0420	\$74,083	\$751 979	540 135		\$192,705	\$47.806	800 784		دد/,214	\$41,021	\$1,199	2 2 4 5 4 A	\$1,107,000
TOTAL ANNULA	ЪU	407	200	000	460	254	59.212	202 421		01,/30	209.982	57,613	140 500	100,388	39,838	83,153	10,611	10,01	34,184	666		922,000
TOTAL ANNUAL FUEL	USE (W/IMPROV.) (GAL)	1.206	2776	4,000	1,380	761	177.636	607 563		102,209	629,947	172.838	481 763	101,101	119,515	249,459	31 833	000,10	102,552	2,997		2,767,000
VOLUME NUMBER OF TOTAL ANNUAL FUEL	USE (EXIST.) (GAL.)	1,608	3,553		1,840	1,015	236,848	810.084	246.045	240,24J	839,929	230,450	642 351		159,354	332,612	42.444		136,736	3,996		3,690,000
NUMBER OF	ACCIDENTS	57	99		41	20	168	516	141	1 + 1	449	126	389		110	179	36	5	81	87		
VOLUME	(ADT)	19,560	37.520	017 10	014,10	36,114	81,432	90,792	101 208		108,372	105,880	95.584	000 00	888,68	107,834	68,908	000,000	007,14	31,884		
ROADWAY SEGMENT	10	1135/U81,47TH	1135/1235		HI DRAUEIC	1135/K15	PAWNEE	1135/U54,KELLOGG	BEGIN BRIDGE		END BRIDGE	21ST	1135/K96	O C MINI ICLE ICLE	0.0 MIN JUL N 40	II35/K254	SCL PARK CITY	1 2 MALINAE	4CZA NIM C.1	NUAB WICHITA		
ROADWAY	FROM	1135/KTA	1135/U81,47TH	1125/125	0071/0011	HYDRAULIC	1135/K15	PAWNEE	11135/U54.KELLOGG		BEGIN BRIDGE	END BRIDGE	21ST	1125/106	064/0611	0.6 MI N JCT K96	1135/K254	SCI DADY CITY		1.3 MN K254		TOTAL

Cost Savings - Long Term
il-135 Fuel Use and (
Table E-16

# Table E-17 I-135 Emission Reductions - Long Term

-

<b></b>		11									_						
TOTAL NO., FMISSIONS	SAVINGS (TONS)	0.02	20:0		0.01		070	08 6	0.84	0.7.0	7 57	1 87	00 8	0.50	091	00.1 00.05	10.54
TOTAL HC EMISSIONS	SAVINGS (TONS)	0.02	0.05	0.03	0.01	3.26	11.16	3.40	11.57	3.18	8.85	2.20	4.58	0.58	1.88	0.06	50.84
TOTAL CO EMISSIONS	SAVINGS (TONS)	2.08	4.60	2.38	1.31	306.76	1,049.22	319.84	1,087.87	298.48	831.97	206.39	430.80	54.97	177.10	5.18	4.778.96
' SEGMENT	TO	1135/U81,47TH	1135/1235	HYDRAULIC	1135/K15	PAWNEE	1135/U54,KELLOGG	BEGIN BRIDGE	END BRIDGE	21ST	1135/K96	0.6 MI N JCT K96	1135/K254	SCL PARK CITY	1.3 MN K254	NUAB WICHITA	
ROADWAY SEGMENT	FROM	1135/KTA	1135/U81,47TH	1135/1235	HYDRAULIC	1135/K15	PAWNEE	1135/U54,KELLOGG	<b>BEGIN BRIDGE</b>	END BRIDGE	21ST	1135/K96 <sup>-</sup>	0.6 MI N JCT K96	1135/K254	SCL PARK CITY	1.3 MN K254	TOTAL

	_				_					_					_
TOTAL ANDULAT	DELAV SAVINGS	CALL SAVINUS (TAS)	39,331	\$36,951	\$11.700	\$30 KNK	000,004	\$68,109	\$10 321	\$7.471 \$7.471	50,401	\$7.428	45 550	C C C C C C C C C C C C C C C C C C C	\$195.000
TOTAL ANNULAL	DFI	033		C40,5	1,170	3 ()61	100/2	0,011	1.932	2025		743	556		19.500
ANN TRAV DELAV	TIME (W/IMPROV.) (HRS)	2 700	11 /05	11,000	016,5	9.182	20.423	LLF,V-4	5,796	1 938		2,228	1.668		58,600
ANNUAL TRAVEL	IRS)		14 780	1 1,00	4,080	12,242	27,244		7,728	2.584		÷,7/1	2,224 ·		78,200
VOLUME NUMBER OF	ACCIDENTS	43	131	100	10	96	205	5	68	31	VC	F 7	21		
VOLUME	(ADT)	28,994	37,542		42,742	42,522	44,370	200,20	37,900	28,102	41 912		35,874		
ROADWAY SEGMENT	TO	MCARTHUR RD	I235/K42	REG CONC REDI		1235/U54	ZOO BLVD			1235/K96	RROADWAY		1135/K254		,
ROADWAY	FROM	1135/1235	MCARTHUR RD	1235/K42		BEU CUNC KEPL.	1235/U54	CIVIA CO2		3.2MN ZOO BLVD	1235/K96		BKUADWAY		TOTAL

<b>Cost Savings - Long Term</b>
lay Time and C
I-235 Travel De
Table E-18 I

ROADWAY	ROADWAY SEGMENT	VOLUME	VOLUME NUMBER OF	TOTAL ANNUAL FUEL	TOTAL ANNI IAL FILFI	TOTAL ANNULAL	TOTAL ANNULAL
FROM	TO	(ADT)	ACCIDENTS	USE (EXIST.) (GAL.)	USE (W/IMPROV.)	(GAL) FUEL SAVINGS (GAL)	
1135/1235	MCARTHUR RD	28,994	43	2.687			
MCARTHUR RD	I235/K42	37,542	131	10.642	7 081	710	0000
1235/K42	BEG CONC REPL.	42,522	37	3.370	1974	2,000 217	101,04
BEG CONC REPL.	1235/U54	42,522	96	8 815	6 6 1 1	7±0	110,14
1235/U54	ZOO BLVD	44.370	205	19616	110%	4,204 A 00A	\$2,044 05 005
ZOO BLVD	3.2MN ZOO BLVD	37,906	68	5 565	2172T	- 201	40,000
3.2MN ZOO BLVD	1235/K96	28,102	31	1.861		146,1	\$1,009 \$550
1235/K96	BROADWAY	41,912	24	2.139	1 605	535	0000 6643
BROADWAY	II35/K254	35,874	21	1,601	1.201	400	548U
TOTAL				006 73			
10HH				006,00	42,200	14,100	\$16,900

and the second sec

## Table E-19 I-235 Fuel Use and Cost Savings - Long Term

### Table E-20 I-235 Emission Reductions - Long Term

-

ROADWAY	ROADWAY SEGMENT	TOTAL CO EMISSIONS	TOTAL HC EMISSIONS	TOTAL HC EMISSIONS   TOTAL NOV EMISSIONS
FROM	TO	SAVINGS (TONS)	SAVINGS (TONS)	SAVINGS (TONS)
1135/1235	MCARTHUR RD	3.48	0.04	0.03
MCARTHUR RD	I235/K42	13.78	0.15	CI 0
1235/K42	BEG CONC REPL.	4.36	0.05	71.0
BEG CONC REPL.	1235/U54	11.42	0.12	
1235/U54	ZOO BLVD	25.41	0.27	0.23
ZOO BLVD	3.2MN ZOO BLVD	7.21	0.08	0.07
3.2MN ZOO BLVD	1235/K96	2.41	0.03	0.02
1235/K96	BROADWAY	2.77	0.03	0.03
BROADWAY	1135/K254	2.07	0.02	0.02
1				
TOTAL		72.91	0.78	0.66

ł

ROADW	ROADWAY SEGMENT	VOLUME	VOLUME NUMBER OF	ANNIJAI TRAVEI	ANN TPAVEL DELAN	TOTAL LANGE	
FROM	TO	(ADT)	ACCIDENTS	RS)	TIME (W/IMPROV.) (HRS)	DELAY SAVINGS (HPS) DELAY SAVINGS (HPS)	DELAV SAVINGS (UDS)
I135/K96	HILLSIDE	38,994	32		7 846		(CAIT) CUNITY AG I RALL
HILLSIDE	OLIVER	17 024	11		2,040	949	\$9,487
		+02,14	4 -	/ \$3,63/	4,377	1 459	\$14 501
OLIVER	WOODLAWN	45,872	54	7 429	5 571		1.0.410
WOODI, AWN	ROCK RD	40.474	33			/ ( 2, 1	\$18,572
		+/+(o+	C4	2,100	2,070	690	\$6 901
KUCK KD	WEBB KD	27,962	51	4.289	2 217	CE0 1	
WEBB RD	FCULIAB WICHITA	22 524	22	2021	11760	1,0/2	\$10,723
		147,04	C4	1,040	1.234	411	CA 11A
ECL WICHITA	21ST	19,288	13	767	575	001	
21ST	LI TTLL	76 277	-			761	51,917
	111.01	200,02	71	1,639	1.229	410	CA 000
13TH	KTA IC	19368	30	1 750			040,440
		0000	00	. 60/,1	1,320	440	605 73
TOTAL	۱						
74101				29,900	22,400	7 500	\$75,000
							000,010

# Table E-21 K-96 Travel Delay Time and Cost Savings - Long Term

-

. <b>Г</b>		<u> </u>													-		
	ETIEL CANNER (CAL)	LUEL SAVINUS (UAL.)	\$820	1 2613	10710	CU0,1X	\$506		\$770	\$355	1710	0014	\$354	0.00	0954		\$6 500
TOTAL ANNULAL	FUEL SAVINGS (GAL)		083	1.051		100,1	497		711	296	138	001	295	717	110		5,400
TOTAL ANNITAL FILE	USE (W/IMPROV) (GAL)		4,043	3,152	4 011	110,4	1,491	2316	000	889	414		C88	950	222		16,200
VOLUME NUMBER OF TOTAL ANNUAL FLIFT	USE (EXIST) (GAL.)	727		4,202	5.349	1000 I	1,201	3.088	1 1 2 5	1,100	552	1 1 00 1	1,100	1.267 · ·			21,500
NUMBER OF	ACCIDENTS	32		41	54	22	<b>1</b> ,4	51	73	Ĵ,	[]	) 10	1	30			
VOLUME	(ADT)	38.994	10.01	41,734	45,872	40,474	+/+()+	27,962	23 524		19,288	76 537		19,368			
ROADWAY SEGMENT	TO	HILLSIDE	OLIVED	OLIVER	WOODLAWN	ROCK RD		WEBB RD	ECLUAB WICHITA		1217	HTSI	(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	KIA.IC.		ı	
ROADWA	FROM	1135/K96	HILL SIDE		OLIVER	WOODLAWN		KUCK RD	WEBB RD		ELLE WICHINA	21ST	I ALCI	H151			IUIAL

Term
Long 1
Savings -
Cost
Use and (
<b>X-96 Fuel Use</b>
le E-22 K-96 Fu
Table

### Table E-23 K-96 Emission Reductions - Long Term

-

<b>ADWA</b>	ROADWAY SEGMENT	TOTAL CO EMISSIONS	TOTAL HC EMISSIONS	TOTAL NO <sub>x</sub> EMISSIONS
	TO	SAVINGS (TONS)	SAVINGS (TONS)	SAVINGS (TONS)
135/K96	HILLSIDE	3.54	0.04	0.03
HILLSIDE	OLIVER	5.44	0.06	0.05
DLIVER	WOODLAWN	6.93	0.07	0.06
00DLAWN	ROCK RD	2.57	0.03	0.02
ROCK RD	WEBB RD	4.00	0.04	0.04
WEBB RD E	ECLUAB WICHITA	1.53	0.02	0.01
SCL WICHITA	21ST	0.72	0.01	0.01
	13TH	1.53	0.02	0.01
	KTA.IC.	1.64	0.02	0.01
١				
		27.90	0.30	0.25

rm
Te
Long
Ĭ
1
Sa
in
av
Ś
st
ŭ
Ť
Ĩ
60 60
Ĕ
Ţ
` <b>&gt;</b>
12
De
Ve
ra
4 T
54
3
Ď
<del></del>
e E-24 US-54
Ġ
le
ab
Tal

TOTAL ANNITAL			\$107,201	\$156,902	\$53,145	\$304,836	\$252,642	\$548,432	\$572,910	\$485,514	\$294,670	8614.056	0001-100 6.440 511	110,744	400,004	\$16,068	\$41,781	\$108,201	\$110,285	\$46.983	\$11,006	007 500	060,24	\$1,134	\$7,930	\$14.639		000,522,46
ANNUAL TIME	DELAY SAVINGS (HPS)		10,221	060,01	C15,C	30,484	25,264	54,843	57,291	48,551	29,467	61,406	44 951	5 605	2,00J	1,60/	4,178	10,820	11,028	4,698	191	750	CC7	113	793	1,464	000 SCF	000,044
ANN. TRAVEL DELAY	TIME (W/IMPROV.) (HRS)	30.663	47.071	1/0/1	10,01	10,401	(c), c)	164,529	171,873	145,654	88,401	184,217	134.853	17 056		1,020	12,534	32,460	33,085	14,095	3,572	777		1 040	2,379	4,392	1.276.000	
ANNUAL TRAVEL	DELAY TIME (EX.) (HRS)	40.884	62,761	21.258	101 025	CCC,121	100,101	219,373	229,164	194,206	117;868	245,623	179,804	22.742	6 477	C12 71	10,712	43,281	44,114	18,793	4,762	1.036	154		3,172	5,856	1,701,000	
VOLUME NUMBER OF	ACCIDENTS	28	40	10	48	38	00	+ (	77	00	52	68	57	114	36	78	200	707	877	118	42	12	4		36	54		
VOLUME	(ADT)	40,560	43,584	59.050	70,564	73 872	117 846	040,211	88,412 80.010	89,910	102,210	100,336	87,624	66,496	59.510	71 420	1 120	074.17	04,494 52,000	23,088	37,796	28,782	37.796		27,5,67	56,146		
ROADWAY SEGMENT	10	0.5ME MAIZE RD	0.4 MI E TYLER	MIDCONT/RIDGE IC	0.39ME MIDCONTIC	WEST ST	1154/K42	O SNIE MEDINAN	VINITE MERIDIAN	ST CAMUKE		U.I MIE IUPEKA	WASHINGTON	II35/U54,KELLOGG	N ERIE	CLIFTON	EDGEMOOR			4LUJV/4L	4L.D/4L	4L/4LJ	<b>GREENWICH RD</b>	1 15 4 /17 0 2	024/N90	E CUL		
ROADWAY	FRUM	MAIZE RD	0.5ME MAIZE RD	0.4 MI E TYLER	MIDCONT/RIDGE IC	0.39ME MIDCONTIC	WEST ST	1154/K42	D SMIE MEDIDIAN	SVCAMOBE	91 CAMONE MAIN		U.IMLE LUPEKA	WASHINGTON	1135/U54,KELLOGG	N ERIE	CLIFTON	FUCEMOOD	BOCK BD		4LJJV/41,	4LD/4L	4L/4LDIV	GREENWICH PD		024/400	TOTAL	

ROADWAY	ROADWAY SEGMENT	VOLUME N	UMBER OF	TOTAL ANNUAL FUEL	TOTAL ANNUAL FUEL	TOTAL ANNUAL	TOTAL ANNILLAL
FROM	TO	(ADT)	ACCIDENTS	USE (EXIST.) (GAL.)	USE (W/IMPROV.) (GAL)	FUEL SAVINGS (GAL)	
MAIZE RD	0.5ME MAIZE RD	40,560	28	29.437	22.078	7 350	
0.5ME MAIZE RD	0.4 MI E TYLER	43.584	4()	45 188	33 801		40,001
0.4 MLE TYLER	MIDCONT/RIDGF IC	59.050	: C	15 206		11,297	0000010
			2	000000	11,479	3,820	\$4,592
	U.39ME MILCONTIC	/0,264	48	87,793	65,845	21,948	\$26,338
0.39ME MIDCONTIC	WEST ST	73,872	38	72,761	54,571	18,190	\$21.828
WEST ST	U54/K42	112,846	54	157,948	118,461	39,487	\$47.385
U54/K42	0.5MI E MERIDIAN	88,412	72	164,998	123,749	41.250	\$49,490
0.5MI E MERIDIAN	SYCAMORE	89,910	60	139,828	104,871	34.957	\$41 948
SYCAMORE	MAIN	102,316	32	84,865	63,649	91010	C75 460
MAIN	0.1 MI E TOPEKA	100,336	68	176,848	132,636	44.212	\$53.054
0.1MI E TOPEKĂ	WASHINGTON	87,624	57	129,459	97,094	32.365	\$38.838
WASHINGTON	1135/U54,KELLOGG	66,496	114	16,374	12,281	4.094	64 010
1135/U54,KELLOGG	N ERIE	59,510	36	4,628	3,471	1.157	\$1388
N ERIE	CLIFTON	71,420	78	12,033	9.025	3,008	\$3,610
CLIFT'ON	EDGEMOOR	71,420	202	31,162	23.372	10212	010,04
EDGEMOOR	ROCK RD	64,494	228	31,762	23,822	7,941	\$0 \$20
ROCK RD	4LDIV/4L	53,088	118	13,531	10,148	3,383	650 48
4LDIV/4L	41.D/4L	37,796	42	3,429	2,572	857	\$1.029
4LD/4L	4L/4LD	28,782	12	746	560	187	400%
41./4LDIV	<b>GREENWICH RD</b>	37,796	4	327	245	5	\$0\$
<b>GREENWICH RD</b>	U54/K96	29,372	36	2,284	1.713	571	5685
U54/K96	E COL	36,146	54	4,216	3,162	1.054	\$1.265
						· · · · · · · · · · · · · · · · · · ·	

\$367,000

306,000

919,000

1,225,000

TOTAL

Table E-25 US-54 Fuel Use and Cost Savings - Long Term

### Table E-26 US-54 Emission Reductions - Long Term

.

ROADWAY	ROADWAY SEGMENT	TOTAL CO EMISSIONS	TOTAL HC EMISSIONS	TOTAL NOV EMISSIONS
FROM	TO	SAVINGS (TONS)	SAVINGS (TONS)	
MAIZE RD	0.5ME MAIZE RD	38.13	0.41	0.34
0.5ME MAIZE RD	0.4 MI E TYLER	58.53	0.62	0.53
0.4 MI E TYLER	MIDCONT/RIDGE IC	19.82	0.21	0.18
MIDCONT/RIDGE IC	0.39ME MIDCONTIC	113.71	1.21	1.03
0.39ME MIDCONTIC	WEST ST	94.24	1.00	0.85
WEST ST	U54/K42	204.57	2.18	1.85
U54/K42	0.5MI E MERIDIAN	213.70	2.27	1.93
0.5MI E MERIDIAN	SYCAMORE	181.10	1.93	1.64
SYCAMORE	MAIN	109.92	1.17	0.09
MAIN	0.1 MI E TOPEKA	229.05	2.44	2.07
0.1MI E TOPEKA	WASHINGTON	167.67	1.78	1.52
WASHINGTON	1135/U54,KELLOGG	21.21	0.23	0.19
1135/U54,KELLOGG	N ERIE	5.99	0.06	0.05
N ERIE	CLIFTON	15.58	0.17	0.14
CLIFTON	EDGEMOOR	40.36	0.43	0.36
EDGEMOOR	ROCK RD	41 14	0.44	0.37
ROCK RD	4LDIV/4L	17.53	0.19	0.16
41.DIV/4L	41,D/41,	4.44	0.05	0.04
41.J)/41,	41./41.ID	0.97	0.01	0.01
4L/4LDIV	<b>GREENWICH RD</b>	0.42	0.00	0.00
<b>GREENWICH RD</b>	U54/K96	2.96	0.03	0.03
U54/K96	ECOL	5.46	0.06	0.05
TOTAL		1,586.51	16.88	14.35

8

t,

# Table E-27 K-254 Travel Delay Time and Cost Savings - Long Term

-

ROADWAY	ROADWAY SEGMENT	VOLUME	NUMBER OF	ANNUAL TRAVEL	ANN. TRAVEL DELAY	TOTAL ANNUAL	TOTAL ANNUAL
FROM	TO	(ADT)	ACCIDENTS	DELAY TIME (EX.) (HRS)	DELAY TIME (EX.) (HRS) TIME (W/IMPROV.) (HRS) DELAY SAVINGS (HRS) DELAY SAVINGS (IRS)	DELAY SAVINGS (HRS)	DELAY SAVINGS (HRS)
1135/1235/K96	ECL WICHITA	18,806	21	1,162	871	290	\$2,904
ECL WICHITA 4LDIV/2L	4LDIV/2L	15,672	22	1,030	772	257	\$2,574
TOTAL				2,200	1,600	500	\$5,500

١

## Table E-28 K-254 Fuel Use and Cost Savings - Long Term

-

ROADWAY SEGMENT	SEGMENT	VOLUME	NUMBER OF	TOTAL ANNUAL FUEL	UMBER OF TOTAL ANNUAL FUEL TOTAL ANNITAL FILE	TOTAL ANNULAL	TOTAL ANNULAL
FROM	TO	(ADT)	ACCIDENTS	USE (EXIST.) (GAL.)	CCIDENTS USE (EXIST.) (GAL.) USE (W/IMPROV.) (GAL) FUEL SAVINGS (GAL) FUEL SAVINGS	FUEL SAVINGS (GAL)	FILE SAVINGS
1135/1235/K96	6 ECL WICHITA	18,806	21	836			
ECL WICHITA	4LDIV/2L	15,672	22	741	556	207	1070
						C01	7770
TOTAL				1,600	1,000	400	\$500

### Table E-29 K-254 Emission Reductions - Long Term

-

2

ROADWAY SEGMENT		TOTAL CO EMISSIONS   TOTAL HC EMISSIONS   TOTAL NOV EMISSIONS	TOTAL HC EMISSIONS	TOTAL NOV FMISSION
FROM	TO	SAVINGS (TONS)	SAVINGS (TONS)	SAVINGS (TONS)
1135/1235/K96 ECL WICHITA	WICHITA	1.08	0.01	0.01
ECL WICHITA 4LI	4LDIV/2L	0.96	0.01	0.01
				10:0
TOTAL		2.04	0.02	0.02

.

ı

### APPENDIX F

### ESTIMATE OF PROBABLE COST CALCULATIONS

.

### CALCULATION OF ALTERNATE SYSTEMS' ANNUAL COSTS

The dollar costs to implement, operate, and maintain each of the three alternate architectures were calculated for each of the time-frames/level of deployment under consideration: short-term, medium-term, and long-term. These costs are itemized in the following text and in Tables F-1 through F-9. It should be noted that for evaluation purposes, a uniform equivalent annual cash flow ( $C_{annualized}$ ) was calculated for the hybrid design alternative, the recommended alternative for the Wichita traffic management system. As formulated below, this consisted of the capital costs ( $C_{capital}$ ) annualized over a time period of fifteen years and an assumed interest rate of 6%, and then added to the estimated annual operating costs ( $C_{operating}$ ) and estimated annual maintenance costs ( $C_{maintenance}$ ).

$$C_{annualized} = (C_{capital} \times CRF_{15,6\%}) + C_{operating} + C_{maintenance}$$

Where,  $CRF_{15,6\%} = 0.103^{2}$ .

### **Estimated Capital Costs**

The Estimated Capital Costs per item remain the same regardless of the system architecture (centralized, distributed, or hybrid).

Roadway Surveillance Equipment

CCTV:\$40,000 per site: Short-Term = 12 sites; Medium-term = 16 sites; Long-term = 20 sites 48 total sites

Detection: \$10,000 per mile;

Short-Term = 7 miles; Medium-term = 16 miles; Long-term = 30 miles 53 total miles of coverage

Variable Message Signs (VMS)

Full matrix LED (3 rows, 18 characters/row, 18" character capability): \$200,000/sign As shown in Figure 6-2:

Short-Term = 14 VMS; Medium-Term = 3 VMS; Long-Term = 2 VMS 18 total VMS

**Communications** 

\$20/ft (\$105,600/mi.) including fiber optic cable, installation, and termination (conduit and pullboxes to be installed by others) for short term. \$45/ft (\$237,600/mi.) for medium term and \$30/ft (\$158,400) for long term.

Short-Term = 15 miles; Medium-Term = 19 miles; Long-Term = 30 miles 64 total communication coverage

<sup>&</sup>lt;sup>2</sup> Civil Engineering Reference Manual, Sixth Edition, Michael R Lindeburg, P.E , 1992

### Highway Advisory Radio (HAR)

Permanent AM Radio installations: \$35,000 per installation Short-Term = 5 sites

Sign installation: \$7,000 per sign, 32 signs total

### Central Hardware and Software

### For Centralized:

\$1,602,000: includes \$300,000 for video displays, \$90,000 for central computer, \$12,000 for 3 workstations, \$100,000 for control equipment, \$1,000,000 for software, and \$100,000 for miscellaneous items.

### For Distributed<sup>.</sup>

\$1,388,000: includes \$150,000 for video displays, \$160,000 for 4 central servers (1 per agency), \$28,000 for 7 workstations, \$200,000 for control equipment, \$750,000 for software, and \$100,000 for miscellaneous items.

### For Hybrid:

\$1,467,000: includes \$225,000 for video displays, \$80,000 for 2 central servers (1 for transit, 1 for KDOT/ECC/DPW), \$12,000 for 3 workstations, \$200,000 for control equipment, \$850,000 for software, and \$100,000 for miscellaneous items.

### Operations Center

All alternate designs are for a new facility to be built on public owned property. All building sizes assume enough space to accommodate the long-term system (53 miles of freeway coverage plus the arterial signal control system).

### For Centralized.

Centralized facility with room for traffic operations, emergency management, and transit operators: 10,000 sq. ft. facility at \$150/sq. ft.

### For Distributed.

Distributed facility to handle traffic operations only: 2,000 sq. ft. facility at \$150/sq. ft.

### For Hybrid:

Hybrid facility with room for traffic operations and emergency personnel: 2,000 sq. ft. facility at \$150/sq. ft. (space and cost sharing with the construction of a new Emergency Communications Center).

### **Estimated Annual Operating Costs**

Additional Motorist Assistance Patrols: 2 at \$200,000/yr

Staffing

### For Centralized

Short and medium term : 1 manager, 1 signal system operator, 1 TMS operator, and 1 incident management/transit management system operator = \$206,960

Long term: 1 manager, 1 assistant manager, 1 signal system operator, 2 traffic management system operators, 2 incident management/transit management system operators, 1 part time secretary = \$362,360

### For Distributed.

- Short and Medium term: 1 operator for the traffic signal system; 1 manager and 1 TMS/Incident management system operator for freeway management; 1 manager and 1 TMS/Incident management system operator for emergency management = \$337,520
- Long term: 1 operator for the traffic signal system; 1 manager, 1 Incident management system operator and 1 TMS operator for freeway management; 1 manager, 1 Incident management system operator and 1 TMS operator for emergency management; 1 parttime secretary = \$357,600

For Hybrid:

- Short and medium term: 1 manager, 1 signal system operator, 1 TMS/incident management operator = \$160,160
- Long term: 1 manager, 1 assistant manager, 1 signal system operator, 3 TMS/incident management operators, 1 part time secretary = \$303,760

### **Estimated Annual Maintenance Costs**

### Maintenance Personnel

For each alternative design, annual maintenance personnel costs were estimated to be \$35,000 per year per maintainer. Assuming adequate field maintainers and control center maintainers for one shift, the total number of maintainers estimated to be needed for each alternative and for each time frame are:

### For Centralized<sup>.</sup>

Short term = 3 maintainers; Medium term = 4 maintainers; Long term = 5 maintainers

For Distributed.

Short-term = 2 maintainers; Medium-term = 2 maintainers; Long-term = 3 maintainers

For Hybrid<sup>.</sup>

Short-term = 3 maintainers; Medium-term = 3 maintainers; Long-term = 4 maintainers

### Factory Repair and Spare Equipment

For each alternative design, the annual costs for factory repair and spare equipment were assumed to be approximately 5% and 3%, respectively, of hardware costs.

Table F-1
Short Term Implementation - Centralized System

	Capital Co	osts		
Item	Quantity	Unit Cost		Total
CCTV	12 ea.	\$ 40,000 /ea.	\$	480,000
Variable Message Signs	14 ea.	\$ 200,000 /ea	\$	2,800,000
Highway Advisory Radio	5 ea.	\$ 35,000 /ea.	\$	175,000
HAR Signs	32 ea.	\$ 7,000 /ea.	\$	224,000
Fiber Optic Communication	15 mi.	\$ 20 /ft.	\$	1,584,000
Incident Detection *	7 mi.	\$ 10,000 /mi	\$	70,000
Traffic Operations Center **	10,000 sq. ft.	\$ 150 /sq. ft.	\$	1,500,000
Central Hardware and Software	L.S.		\$	1,602,000
Subtotal		· · · · · · · · · · · · · · · · · · ·	\$	8,435,000
Contingency 10%			\$	843,500
Design and Implementation 10%			\$	843,500
Total Capital Cost			\$	10,122,000
Capital Recovery Factor (15 yrs, 6%				0.103
Annualized Capital Cost (Rounde			\$	1,040,000
	perating and M	aintenance Costs		
Item	Quantity	Annual Cost		Total
Motorist Assistance Patrol	2 patrols	\$ 200,000 /yr.	\$	400,000
(in addition to existing)			1	
Leased T-1 Phone Lines	3 lines	\$ 15,000 /yr.	\$	45,000
Dial-up Phone Lines	13 lines	\$ 900 /yr.	\$	11,700
Staffing				
TMC Manager	l person	\$ 66,560 /yr	\$	66,560
Signal System Operator	1 person	\$ 46,800 /yr.	\$	46,800
TMS Operator	l person	\$ 46,800 /yr.	\$	46,800
Incident Management/Transit	l person		\$	46,800
System Operator				,
Maintenance Personnel	3 people	\$ 32,000 /yr	\$	96,000
Maintenance		•		- ,
Factory Repairs (5% of equip \$)			\$	134,770
Spare Parts (3% of equip. \$)			\$	80,862
<b>Fotal Annual Operating and Main</b>	tenance Costs (	Rounded)	\$	980,000

### Total Annual Capital, Operating and Maintenance Costs (Rounded) \$ 2,020,000

Fiber optic communications to cameras and incident detection along I-135 between K-96 and Kellogg (US-54) T-1 lines to outlying cameras and dial up lines to VMS's and incident detection at Ridge Road.

Leased lines -

- 1 line to 2 cameras at I-235/I-135 interchange
- 1 line to 2 cameras at I-235/US 54 interchange
- 1 line to camera at Ridge Rd/US 54 interchange
- \* Assumes two (2) detector stations per mile.
- \*\* This assumes that the Traffic operations Center will be housed in the same space as the new Emergency Communications Center If the Traffic Operations Center is to be a stand alone center, approximately 5,000 sq ft will be required.

	ementation		entranizea Sys	
	<b>Capital Costs</b>			
Item	Quantity		Unit Cost	Total
CCTV	16 ea.	\$	40,000 /ea.	\$ 640,000
Variable Message Signs	3 ea.	\$	200,000 /ea.	\$ 600,000
Fiber Optic Communication	19 mi.	\$	45 /ft.	\$ 4,514,400
Incident Detection	16 mi.	\$	10,000 /mi	\$ 160,000
Subtotal	·····			\$ 5,914,400
Contingency 10%				\$ 591,440
Design and Implementation 10%				\$ 591,440
Total Capital Cost				\$ 7,097,280
Capital Recovery Factor (15 yrs, 6%)				0.103
Annualized Capital Cost (Rounded)				\$ 730,000
Annual Opera	ating and Mair	iten	ance Costs	
Item	Quantity	}	Annual Cost	Total
Motorist Assistance Patrol	2 patrols	\$	200,000 /yr.	\$ 400,000
Staffing	_		•	
TMC Manager	1 person	\$	66,560 /yr.	\$ 66,560
Signal System Operator	1 person	\$	46,800 /yr.	\$ 46,800
TMS Operator	1 person	\$	46,800 /yr.	\$ 46,800
Incident Management/Transit	l person	\$	46,800 /yr.	\$ 46,800
System Operator	~		· ·	,
Maintenance Personnel	4 people	\$	32,000 /yr.	\$ 128,000
Maintenance			, ,	
Factory Repairs (5% of equip \$)				\$ 175,570
Spare Parts (3% of equip. \$)				\$ 105,342
Total Annual Operating and Mainter	nance Costs (R	oun	ded)	\$ 1,020,000

### Table F-2Medium Term Implementation - Centralized System

### Total Annual Capital, Operating and Maintenance Costs (Rounded) \$ 1,750,000

Leased telephone lines will be replaced with fiber optic trunk communication lines in this phase

	Table F-3
Long Term Im	plementation - Centralized System

	Capital C	osts			
Item	Quantity		Unit Cost		Total
CCTV	20 ea.	\$	40,000 /ea.	\$	800,000
Variable Message Signs	2 ea.	\$	200,000 /ea.	\$	400,000
Fiber Optic Communication	30 mi.	\$	30 /ft.	\$	4,752,000
Incident Detection	30 mi.	\$	10,000 /mi	\$	300,000
Subtotal				\$	6,252,000
Contingency 10%				\$	625,200
Design and Implementation 10%				\$	625,200
Total Capital Cost				\$	7,502,400
Capital Recovery Factor (15 yrs, 6%)					0.103
Annualized Capital Cost (Rounded	l)			\$	770,000
Annual O	perating and <b>N</b>	lain	tenance Costs		
Item	Quantity		Annual Cost		Total
Motorist Assistance Patrol	2 patrols	\$	200,000 /yr.	\$	400,000
Staffing					ŕ
TMC Manager	1 person	\$	66,560 /yr.	\$	66,560
Assistant TMC Manager	1 person	\$	53,800 /yr.	\$	53,800
Signal System Operator	1 person	\$	46,800 /yr.	\$	46,800
TMS Operator	2 person	\$	46,800 /yr.	\$	93,600
Inc. Mgt. System Operator	1 person	\$	46,800 /yr.	\$	46,800
Transit Mgt.System Operator	1 person	\$	46,800 /yr.	\$	46,800
Secretarial/Clerical	0.5 person	\$	32,000 /yr.	\$	16,000
Maintenance Personnel	4 people	\$	32,000 /yr.	\$ -	128,000
Maintenance			•		,
Factory Repairs (5% of equip \$)				\$	188,370
Spare Parts (3% of equip. \$)				\$	113,022
<b>Fotal Annual Operating and Maint</b>	enance Costs (	Rou	inded)	\$	1,200,000

Total Annual Capital, Operating and Maintenance Costs (Rounded)\$ 1,970,000

	Capital C	Cost	s			
Item	Quantity		Un	it Cost		Total
CCTV	12 ea.	\$	40,000	/ea.	\$	480,000
Variable Message Signs	14 ea.	\$	200,000	/ea.	\$	2,800,000
Highway Advisory Radio	5 ea.	\$	35,000	/ea.	\$	175,000
HAR Signs	32 ea.	\$	7,000	/ea.	\$	224,000
Fiber Optic Communication	15 mi.	\$	20	/ft.	\$	1,584,000
Incident Detection *	7 mi.	\$	10,000	/mi	\$	70,000
Traffic Operations Center **	2,000 sq. ft.	\$	150	/sq. ft.	\$	300,000
Central Hardware and Software	L.S.				\$	1,388,000
Subtotal		•			\$	7,021,000
Contingency 10%					\$	702,100
Design and Implementation 10%					\$	702,100
Total Capital Cost					\$	8,425,200
Capital Recovery Factor (15 yrs, 6%	)					0.103
Annualized Capital Cost (Rounded	1)				\$	870,000
Annual O	perating and l	Mai	ntenance	e Costs		· · · · · · · · · · · · · · · · · · ·
Item	Quantity		Annua	l Cost	1	Total
Motorist Assistance Patrol	2 patrols	\$	200,000	/yr.	\$	400,000
(in addition to existing)						
Leased T-1 Phone Lines	3 lines	\$	15,000	/yr.	\$	45,000
Dial-up Phone Lines	13 lines	\$	900	/yr.	\$	11,700
Staffing						-
City Signals						
System Operator	l person	\$	46,800	/yr.	\$	46,800
Freeway Management				•		
Manager	l person	\$	66,560	/yr.	\$	66,560
Incident Mgt. System Operator/	l person	\$	46,800	/yr.	\$	46,800
TMS Operator				2		, ,
Emergency Management						
Manager	1 person	\$	66,560	/vr	\$	66,560
Manager	1 person		46,800		\$	46,800
Incident Mgt. System Operator/	,		,	5		,
TMS Operator	2 people	\$	32,000	/vr.	\$	64,000
Maintenance Personnel	2 people		32,000		\$	64,000
Maintenance	r · · · · ·	-		J		0 1,000
Factory Repairs (5% of equip \$)					\$	124,070
Spare Parts (3% of equip. \$)					\$	74,442
Total Annual Operating and Maint	enance Costs	(Re	ounded)		<u>  </u> \$	1,060,000

### Table F-4Short Term Implementation - Distributed System

:

### Total Annual Capital, Operating and Maintenance Costs (Rounded) \$ 1,930,000

Fiber optic communications to cameras and incident detection along I-135 between K-96 and Kellogg (US-54) T-1 lines to outlying cameras and dial up lines to VMS's and incident detection at Ridge Road.

Leased lines -

1 line to 2 cameras at I-235/I-135 interchange

1 line to 2 cameras at I-235/US 54 interchange

1 line to camera at Ridge Rd/US 54 interchange

\* Assumes two (2) detector stations per mile.

\*\* This assumes that the Traffic operations Center will be housed in the same space as the new Emergency Communications Center. If the Traffic Operations Center is to be a stand alone center, approximately 5,000 sq.ft. will be required.

		Table F-5		
Medium	Term	Implementation -	- Distributed	System

	Capital Costs				
Item	Quantity	,	Unit Cost		Total
CCTV	16 ea.	\$	40,000 /ea.	\$	
Variable Message Signs	3 ea.	\$	200,000 /ea.	\$	640,000
Fiber Optic Communication	19 mi.	\$	200,000 /ea. 45 /ft.		600,000
Incident Detection	16 mi.	\$		\$	4,514,400
Subtotal	10 III.	] ⊅	10,000 /mi	\$	160,000
Contingency 10%				\$	5,914,400
Design and Implementation 10%				\$	591,440
Total Capital Cost				\$	591,440
Capital Recovery Factor (15 yrs, 6%)				\$	7,097,280
Annualized Capital Cost (Rounded)				¢	0.103
	4:			\$	730,000
Annual Opera Item		iten		- <u>_</u>	
	Quantity		Annual Cost		Total
Motorist Assistance Patrol	2 patrols	\$	200,000 /yr.	\$	400,000
Staffing					
City Signals					
System Operator	1 person	\$	46,800 /yr.	\$	46,800
Freeway Management					
Manager	1 person	\$	66,560 /yr.	\$	66,560
Incident Mgt. System Operator/	1 person	\$	46,800 /yr.	\$	46,800
TMS Operator					
Emergency Management					
Manager	1 person	\$	66,560 /yr.	\$	66,560
Manager	l person	\$	46,800 /yr.	\$	46,800
Incident Mgt. System Operator/					
TMS Operator	2 people	\$	32,000 /yr.	\$	64,000
Maintenance Personnel	2 people	\$	32,000 /yr.	\$	64,000
Maintenance			- •		
Factory Repairs (5% of equip \$)				\$	164,870
Spare Parts (3% of equip. \$)				\$	98,922
<b>Total Annual Operating and Mainten</b>	ance Costs (R	oun	ded)	\$	1,070,000

### Total Annual Capital, Operating and Maintenance Costs (Rounded) \$ 1,800,000

ţ

Leased telephone lines will be replaced with fiber optic trunk communication lines in this phase

Table F-6
Long Term Implementation - Distributed System

Capital Costs								
Item	Quantity		Unit Cost			Total		
CCTV	20 ea.	\$	40,000 /	/ea.	\$	800,000		
Variable Message Signs	2 ea.	\$	200,000 /	/ea.	\$	400,000		
Fiber Optic Communication	30 mi.	\$	30 /	′ft.	\$	4,752,000		
Incident Detection	30 mi.	\$	10,000 /	/mi	\$	300,000		
Subtotal					\$	6,252,000		
Contingency 10%					\$	625,200		
Design and Implementation 10%					\$	625,200		
Total Capital Cost					\$	7,502,400		
Capital Recovery Factor (15 yrs, 6%)	1					0.103		
Annualized Capital Cost (Rounded	l)				\$	770,000		
Annual O <sub>I</sub>	perating and <b>N</b>	lain	tenance Cos	ts	-			
Item	Quantity		Annua	al Cost		Total		
Motorist Assistance Patrol	2 patrols	\$	200,000 /	′yr.	\$	400,000		
Staffing								
City Signals								
System Operator	1 person	\$	46,800 /	'yr.	\$	46,800		
Freeway Management								
Manager	1 person	\$	53,800 /	yr.	\$	53,800		
TMS Operator	1 person	\$	46,800 /	yr.	\$	46,800		
Incident Mgt. System Operator	1 person	\$	46,800 /	yr.	\$	46,800		
Secretary/Clerical	0.5 person	\$	32,000 /	yr.	\$	16,000		
Emergency Management								
Manager	1 person	\$	53,800 /	yr.	\$	53,800		
TMS Operator	1 person	\$	46,800 /	yr.	\$	46,800		
Incident Mgt. System Operator	1 person	\$	46,800 /	yr.	\$	46,800		
Secretary/Clerical	0.5 person	\$	32,000 /	yr.	\$	16,000		
Maintenance Personnel	3 people	\$	32,000 /	yr.	\$	96,000		
Maintenance				-				
Factory Repairs (5% of equip \$)					\$	218,470		
Spare Parts (3% of equip. \$)					\$	131,082		
Total Annual Operating and Maintenance Costs (Rounded)					\$	1,220,000		

Total Annual Capital, Operating and Maintenance Costs (Rounded)

٢

\$ 1,990,000

Capital Costs								
Item	Quantity	Unit Cost		Total				
CCTV	12 ea.	\$ 40,000 /ea.	\$	480,000				
Variable Message Signs	14 ea.	\$ 200,000 /ea.	\$	2,800,000				
Highway Advisory Radio	5 ea.	\$ 35,000 /ea.	\$	175,000				
HAR Signs	32 ea.	\$ 7,000 /ea.	\$	224,000				
Fiber Optic Communication	15 mi.	\$ 20 /ft.	\$	1,584,000				
Incident Detection *	7 mi.	\$ 10,000 /mi	\$	70,000				
Traffic Operations Center **	2,000 sq. ft.	\$ 150 /sq. ft	. \$	300,000				
Central Hardware and Software	L.S.		\$	1,467,000				
Subtotal			\$	7,100,000				
Contingency 10%			\$	710,000				
Design and Implementation 10%			\$	710,000				
Total Capital Cost	\$	8,520,000						
Capital Recovery Factor (15 yrs, 6%		0.103						
Annualized Capital Cost (Rounde	\$	880,000						
		laintenance Costs						
Item	Quantity	Annual Cost		Total				
Motorist Assistance Patrol	2 patrols	\$ 200,000 /yr.	\$	400,000				
(in addition to existing)								
Leased T-1 Phone Lines	3 lines	\$ 15,000 /yr.	\$	45,000				
Dial-up Phone Lines	13 lines	\$ 900 /yr.	\$	11,700				
Staffing								
TMC Manager	1 person		\$	66,560				
Signal System Operator	1 person		\$	46,800				
Incident Mgt. System Operator/	1 person	\$ 46,800 /yr.	\$	46,800				
TMS Operator								
Maintenance Personnel	3 people	\$ 32,000 /yr.	\$	96,000				
Maintenance								
Factory Repairs (5% of equip \$)			\$	128,020				
Spare Parts (3% of equip. \$)			\$	76,812				
Total Annual Operating and Maintenance Costs (Rounded)\$920,000								

### Table F-7Short Term Implementation - Hybrid System

### Total Annual Capital, Operating and Maintenance Costs (Rounded) \$ 1,800,000

Fiber optic communications to cameras and incident detection along I-135 between K-96 and Kellogg (US-54) T-1 lines to outlying cameras and dial up lines to VMS's and incident detection at Ridge Road.

Leased lines -

1 line to 2 cameras at I-235/I-135 interchange

1 line to 2 cameras at I-235/US 54 interchange

- 1 line to camera at Ridge Rd/US 54 interchange
- \* Assumes two (2) detector stations per mile.
- \*\* This assumes that the Traffic operations Center will be housed in the same space as the new Emergency Communications Center. If the Traffic Operations Center is to be a stand alone center, approximately 5,000 sq.ft. will be required.

Medium Term Implementation - Hybrid System						
	<b>Capital Costs</b>					
Item	Quantity		Unit Cost		Total	
CCTV	16 ea.	\$	40,000 /ea.	\$	640,000	
Variable Message Signs	3 ea.	\$	200,000 /ea.	\$	600,000	
Fiber Optic Communication	19 mi.	\$	45 /ft.	\$	4,514,400	
Incident Detection	16 mi.	\$	10,000 /mi	\$	160,000	
Subtotal				\$	5,914,400	
Contingency 10%				\$	591,440	
Design and Implementation 10%				\$	591,440	
Total Capital Cost				\$	7,097,280	
Capital Recovery Factor (15 yrs, 6%)					0.103	
Annualized Capital Cost (Rounded)					730,000	
Annual Opera	ting and Mair	itena	ance Costs			
Item	Quantity		Annual Cost	1	Total	
Motorist Assistance Patrol	2 patrols	\$	200,000 /yr.	\$	400,000	
Staffing	-		•		,	
TMC Manager	1 person	\$	66,560 /yr.	\$	66,560	
Signal System Operator	1 person	\$	46,800 /yr.	\$	46,800	
Incident Mgt. System Operator/	1 person	\$	46,800 /yr.	\$	46,800	
TMS Operator	-		, <u>,</u>		,	
Maintenance Personnel	3 people	\$	32,000 /yr.	\$	96,000	
Maintenance			, J.		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
Factory Repairs (5% of equip \$)				\$	168,820	
Spare Parts (3% of equip. \$)				\$	101,292	
Total Annual Operating and Maintenance Costs (Rounded)				\$	930,000	

### Table F-8 Medium Term Implementation - Hybrid System

### Total Annual Capital, Operating and Maintenance Costs (Rounded) \$ 1,660,000

Leased telephone lines will be replaced with fiber optic trunk communication lines in this phase

ċ

	Table F-9	
Long Term	<b>Implementation - Hybrid</b>	System

Capital Costs								
Item	Quantity		Unit Co	ost	Total			
CCTV	20 ea.	\$	40,000 /ea.	\$	800,000			
Variable Message Signs	2 ea.	\$	200,000 /ea.	\$	400,000			
Fiber Optic Communication	30 mi.	\$	30 /ft.	\$	4,752,000			
Incident Detection	30 mi.	\$	10,000 /mi	\$	300,000			
Subtotal	······	•		\$	6,252,000			
Contingency 10%				\$	625,200			
Design and Implementation 10%				\$	625,200			
Total Capital Cost				\$	7,502,400			
Capital Recovery Factor (15 yrs, 6%	)				0.103			
Annualized Capital Cost (Rounded	d)			\$	770,000			
Annual Operating and Maintenance Costs								
Item	Quantity		Annual Co	st	Total			
Motorist Assistance Patrol	2 patrols	\$	200,000 /yr.	\$	400,000			
Staffing			-					
TMC Manager	1 person	\$	66,560 /yr.	\$	66,560			
Assistant TMC Manager	1 person	\$	53,800 /yr.	\$	53,800			
Signal System Operator	1 person	\$	46,800 /yr.	\$	46,800			
Incident Mgt. System Operator/	3 people	\$	46,800 /yr.	\$	140,400			
TMS Operator			· · · ·		,			
Secretary/Clerical	0.5 person	\$	32,000 /yr.	\$	16,000			
Maintenance Personnel	4 people	\$	32,000 /yr.	\$	128,000			
Maintenance								
Factory Repairs (5% of equip \$)				\$	222,420			
Spare Parts (3% of equip. \$)				\$	133,452			
Total Annual Operating and Maintenance Costs (Rounded)					1,210,000			

Total Annual Capital, Operating and Maintenance Costs (Rounded)\$ 1,980,000

10.4